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IELTS stands for International Eﬂgff'Sh Language
Testing System. It is a test of Enghsh language
skills designed for students who want 10 study in
the medium of English either at university, college

ar secondary school

There are two versions of the test: the Academic
Module and the General Training (GT) Module.
Students wishing to study at postgraduate or
undergraduate levels should take the Academic
Module. The General Training Module 1s designed
for those candidates who plan to undertake training
or secondary school education. The General Traiping
Madule 15 also used in Australia, Canada, New
Zealand and the UK to assess the language skills

of incoming migrants. Candidates must decide in
advance which of the two modules they wish to sit
as the results are not interchangeable

Students sit the Listening, Reading and Writing papers
in that order on one day The Speaking Test may be

held up to twa days later, though narmally it is taken HRUBE “Comp

on the same day, after the Writing Test Has generally eff
 despite some ina

A computerised version of the Listening, Reading and miggndg tandin
|

Writing Tests i5 available at many IELTS centres, but | complex
the paper-based version of IELTS will always be offered == e
and s the standard format QRBEDEHE | 110
Has partial com
averall meanin
1o make ma
basic commi

Overview of the test

The test is in four parts reflecting the four basic

language skills e
%] ik inntot]iGae
* Listening: raken by alf candidates | Basic Wﬂm' niliar sit
T - Has f roblems in ur
* Reading: Academic or General Training : e,‘pmsre:;rﬂ::;bm able :’n A
*  Writing: Academi or General Training B 'r?i..r‘-‘-:&iﬁ'i‘-;rru'-rr S '
* Speaking: taken by afl candidates Can and uda’sfands only geners
In very familiar situatio Frm nt b
Resu I ot ns.
. communication occur. >
— -

Performance is rated on a scale of 0-9. Candidates Eand 2 ntecmitient use;

Fecene a Test Report Form, which shows their overall Ne real communicati ———
Y 410N 15 possible excapt for
De'tfgmnce reported as a single band score as well the most basic inf 0N using isolated words
::me \"Cividual scores they received for each part of | ©F short formulas in familiar si ns and ta
test meet immediate needs. Has great difficulty in
- | & i I.I

. understanding spoken
Band Non user
Essentially has no abifity 0 use

POssibiy a few mm words. m
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guerview of the IE(Ts 1.,

An informational valk~ |1
general context

10 A conversation -
education/training
context,

24

10 |2 lecture — educationy 1
trRining context

* short answer questions

* notedtableformilow chart/
sEntence completion

summary completion
* plarymap/diagram labelling
* matching

*+ dassification

A Yransactiong) s akers Target listening skills
; ona
- 2
conversation - * multiple cholce .|
context general 'ljlmmg far man

* hstening for specfic
mnformation

e undfrstandmg
speakec's oginion

l

Up to 2 task types per passage

Task types Target reading skills

BXTs, i.e. journals,
5 lextbooks and

pssible rather
p-specific

* multiple choice .
= short answer guestions .

= notestabledformifion .
chari/sertence/summary
completion

 diagram labelling

» matching paragraph
headings

» matching lists/sentence
endings

» locating nformation in
paragraphs

e True/False/MNot Given
« Yes/Na/Not Given

damming and sanmng
Und':*fstind.ng main 1dass
reacing tor gdeatail

undsrstand ing opinion and

athitude

Up ta 4 task types per passage

2 000-2,750 words




Academic Writing (60 minutes)

Target writing skills

—

information transfer exercise

presanit, dascribe Interpret
compare quantiative da,

describe 3 process or Now
something works

discursive writing

No. of | Text types Task types

tasks
Task | I A sumimansing descnptbon cf
{20 ming) graphic or pictonial input (g explanations of the
Diprries information required )

L An extended piece of Candidates are presented

with a given point of wiew or
problem on which to base an
organised, extended response

——

argue, defend or attack
a point of view using
supporting evidence

identfy causes and/or
suggest a solution 1o
3 protdem

compare and contrast
opinkENs

svaluate the effects of
a development

Minimum of 150 words (Task 1)
o
ymum of 250 words (Task 2)

N

Task requirements selected
from the range above

.r_’ g (60 minutes)

Task types

Target reading skills

Informational texts related 1o
day situations.

.

Texts from 3 work place/
training context but related to

l the survival needs of students.
| One descriptive or narrative
R et on a topic of general

* multiple choice

short answer questions

notes/table/form/flow
char/sentence/summary
completion

diagram labelling

matching hsts/sentence
endings

matching paragraph
headings

TrueyFalsa/Not Given

locating information in
paragraphs

-

skimming and scanning
understanding main ideas
reading for detail

understanding opimon and
attitude

Up 10 4 task types per passage




general Training Writing (60 minutes)

—

No. of | Text types Task types
tasks
sk 1 ! A short letter - informal, An input prompt poses
(20 mins) semi-formal or formal style. a problem or describes &
e situation which requires (sl
one-third of Wwiitlen response in Lo
T format.
Three bullet paints outline
what should be inchuc --.’ N
the letter
sk 2 1 An extended piece of An extended, organised
(40 mins) discursive writing. response to questions oF
L smoe l 1ssues raised in the task.
._‘_Ihh?s it
, thirds of
malks |
|
I
| Overal 2 Minimum of 150 words (Task 1)

E l Mintmum of 250 words (Task 2)

Speaking (11-14 minutes)

Format: Individual

r Nu of Nature of interaction
parts interview with an examiner X
Part ) 4-5 Introduction and interview Examiner asks set questions
utes | about familiar topics, using
| 3 lixed framework.
Part 2 | 3-4 Individual lonig turm. Candidate has to spesk for : ing 4
teg ebout twa minutes on a gomg mthou!
topic chosen by the examiner suppori
1 Candidate is given one mintite
. o prepare and can make :;;::mn nd e
nates in that time, -
of ideas
n using a range of hrwlﬁ
| | appropriately
| Pant 3 ac Exploning the 10pic - Examiner leads the candiclate Expressing views and
minutes | developing a discussion 1o consider more general opinions
] issues related to the Part 2
topic Candidate s encouraged &xplaning
to develop language of a mare displaying understanding
abstract nature of the conversational rules
— | of English |
INTRODUCTION



Listening module (approx 30 minutes + 10 m

Guidance

The Listening test is taken by both Acaden Ic ani
it lasts for forty minutes (thirty minutes plus
consists of four sections. There are a total of forty
The recording is only played ONCE. As you

answers on the question paper. When the recording
ten minutes to transfer your answers to the answes

Sections 1 and 2 relate to social contexts, testing
survival in an English-speaking country. Section

speakers, e.g. two people talking about holiday pi
manalogue, e.9. a podcast about what you can o
Sections 3 and 4 have a more academic or train
conversation between two or more people, g

a student about a work placement, and Sect
presenting the findings of a research project

Before each section, you will hear a brief introductic
speakers are and what the situation is. You wi -
through the questions before the recording fq' hat
3, there is a short break in the middle 9iving you tii
the second half. There is no break in Sectiond4.

All answers will occur in the correct form in the na (5o ve
it), and you will only get a mark if the answer EM‘ 0 yr

follaw the instructions regarding the B mm; _ (M .

- 'é

A variety of questions are used cho h types
« €hosen from t i
* Multiple choice . fﬂ*wﬂa .

* Notetable/surmma
* Matching.

~ oiagrmmp{plan Iabelling.
* True, false, not given,
In some tasks you wall

| have to write letters qrh:::.,mﬁt& Words or phrases, and in other tagks you will
_—-_-ﬁ-‘_-_‘_-__ i -

ryfflow chart completion.




Questions 1-10

- Questrons 1-10
Tip strip

Questions 1-10 Complete the form befow

100 atwas Write NO MORE THAN TWO WORDS OR A NUMBER for each answer.

v Ao | : =

: aevwer Nev Health club customer research \
. men#® 11 koo
,L i : £ xample Answer
. e Lo Dccupabon 1
h Afje group 2
to o : Type of membership 3
[ }
(
{

a mark if you leavwe off

-J

Ti’p Stflp L -.."-., YO W ot _".i‘

‘2 * . —
Question & and Quastion 5

Questions §-10

- | | 3
- i There aré thrise sLgoestions lor mprovernents
6 [ - ctact, Carsfylly rpad the words grven for gach
T e, Gullet point: thes will te] you where 18 note ealh
Question B suggeriad improvement You will iose & mark |
oo do not put the word in the comest gap




Questions 11-1§

* Ay with all Now chart
tasks, Usten carelully for
the words and phrases
which signal the
beginning of each new
stage in the sequence

* In these tasks. options
are only used once. (In
tasks whese you can
use options mare than
once, the instructions
will clearly state this)

" Questions 11-20
Questions 11-16
Complete the flow chart below,
G, next 10
Choose SIX answers from the box and wrile the correct letter, A=G:
questions 11-16.
I __—_________——-—'_'
A air B ash C earth D grass
E slicks F slones G water L
Making a steam pit
Dig a pit. 1
Arrange arowof 11 .................. over the pit.
Place12 .................. on top.
Light the wood and let it burn out.

Remove 13 ...........

iEsbada

\

Insert a stick.

10
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U Questions 21-30

Tip strip Questions 21-25

Questions 21-30 :
* For these bk Choose the correct letter, A, B or C.

s talking _l:mhm Research project on attitudes towards study

and roles, Listen to the
;:?'Thl:nm:m 21 Phoebe's main reason for choosing her topic was that
a begh'l
of this section, nm A her classmates had been very interested in it.
m’{’.ﬁm B it would help prepare her for her first teaching post.
g":’;'";:iwﬁ Aiiie C she had been inspired by a particular book.
et oy Aol
nm% an ﬂ;eu 22 Phoebe's main research guestion related to
answer paper.) et
* For Qu 3124 A the effect of teacher discipline.
listen for what - B the variety of learning aclivilies.
Phoebe m}llﬂ
Fu_qmnion 25, C levels of pupil confidence.
isten for what Tony
| thinks. s 23 Phoebe was most surprised by her finding that
m‘ kS v ihinas A gender did not influence behaviour significantly.
of “flexibility’, B girls were more negative about school than boys.

C boys were more talkative than girls in class.

24 Regarding teaching, Phoebe says she has learned that
A teachers should be flexible in their lesson planning.
B Dbrighter children learn from supporting weaker ones.
C children vary from each other in unpredictable ways.

25 Tony is particularly impressed by Phoebe’s ability to
A recognise the limitations of such small-scale research.
B reflect on her own research experience in an interesting way.
C design her research in such a way as to minimise difficulties.

12



Tip strip

Questions 16-30

+ For matching eserciies
ke these, 1t s important
o be demr an the
specific Wi, In this
e you mast isten Yo
what = DIFFICULT abaiit
each ol the fae teseanch
techmgues. The tocus
il zlsg be indcated in
the haading of the box
Dtfites

Questions 26-30
Whai did Phoabe find difficult about the different research lechnigues she used?

Choose FIVE answers from the box and writs the correct letter A-G, next fo
questions 26-30.

Difficulties

Obtaining permission

Deciding on a suitable focus
Concentrating while gathering dalta
Working collaboratively
Processing data she had gatherad I
Finding a suitable time to conduct the research

Getting hold of suitable equipment

@mMmoonm>»

Research techniques

26 Observing lessons i P
27 Interviewing teachers

28 Interviewing pupils

29 Using questionnaires  ................

30 Taking photographs

13



Tip strip
for cknse

Question 32
for egat | T

Listen for a synonym
for ‘rapid’
Question 38
Listen for a synonym
for "novel’.

Questions 31-40

Questons 371-40

Complete he sentances below

Write NO MORE THAN TWO WORDS for each answer

Saving the juniper plant

Background

31 Juniper was one of the first plants o colonise Britain afler the last

32 tssmokeisvitually .. ... ., S0 juniper wood was used as
fuel in illegal activities.

33 Oils from the plant were used (o prevent . spreading

34 Nowadays, its bernes are widely used to .. food and drink

Ecology

35 Juniper plants also support several species of insects and

Problems

36 In current juniper populations, ratios of the ................ &re poor.

37 Many of the bushes in each group are of the same age so
of whole populations is rapid.

Solutions
38 Plantlife is trialling novel techniques across ... ... areas of England

14



time on this. -

the test you can make notes on the question paper, but all your
g&:ﬁawmﬂﬁhmnmammm&ﬂimnmmmw )
time to da this.
The test has a total of 40 questions, so in two onheudiomthmamﬂ?.
questions, and in one there are 14 questions.

Reading passages

The reading passages in all three sactions are of a similar length, each one
consisting of between 750-950 words. The first passage is usually more factual
than the others, and the third contains more opinion. There is 2 range of topics,
and these might be related to any academic subject area, such as natural sciences,
history, archaeslogy or education. However, the subject matter of the passages is
not highly technical, and should be accessible to any IELTS candidate, whatever
their personal educational history.

The Academic Reading paper uses a vanety of task types, including.

* Giving short answers to questions

* Decding whether statementsy/opinions correspond to what is written in. the
reading passage

* Malching statements to people or events which are mentioned in the
reading passage.

* Completing a summary, or individual sentences, which are based on the
reading passage

* Completing 2 table, & diagram. a flow chart, or notes which are hased on the
reading passage.

| * Choowng a statement about the reading passage from several options.

* Choosing the answer 10 a question about the reading passage from
several optbions

* Choosing the best heading for each of the paragraphs in a reading passage.

in some tasks, you will have to write words or phrasas, and in other tasks you yill
have 10 write igtters or numbers

15




n T - - You should spand about 20 minutes on Questions 1-13, which are based on

Reading Passage 1 below

Background

The Isle of Eigp is situated off the West Coast
of Scotland, and is reached by ferry from the
mainland. For the island community of about a
hundred residents, it has always been expensive to
import products, materials and skilled ur from
the mainland, and this has encouraged a culture
of self-sufficiency and careful use of resources.
Today, although the island now has most modern
conveniences, COz emissions per household are
20 percent lower than the UK average, and
electricity use is S0 percent lower,

When Eigg designed its electricity grid, which
was switched on in February 2008, it quickly
became apparent that in order to keep the capital
building costs down, it would be necessary to
manage demand. This would also allow the island
to generate most of its electricity from renewable
sources, mainly water, wind and solar power.
This was overseen by the Eigg Heritage
Trust (EHT).

than demand, and diesel generators are operating to
back it up — a so-called ‘red light day’, as opposed
to ‘green Light days' when there s sufficiem
rencwable energy. Residents then take steps to
temporanly reduce electricity demand further
still, or postpone demand until renewable energy
generation has increased.

Encrgy use on the island has also been reduced
through improved wall and loft insulation in
homes, new boilers, solar water heating, car-
sharing and various small, energy-saving measures
in houscholds. New energy supplies are being
developed, including sustainably harvested forests
to supply wood for heating.

Eigg Hertage Trust has installed insulation in
all of its own properties at no cost to the tenants,
while private properties have paid for their own
insulation to be installed. The same apples for
installations of solar water heating, although not all
Trust properties have received this as yet The Trust
a!sozrentesa Green Grants scheme, where residents
can claim 50 percent of the cost of equipment to
reduce carbon emissions, up o a limit of £300.
Purchases i:m:lm:logJll w, solar water heating,
awondn?-ghang,- ' icker curtains, and greenhouses
to grow food locally, rather than imporilf;g it

p——— —

Reducing electricity
consumption on the Isle of Eigg



ed 0 a UK average in 2008 of 4,198
k Domestic carbon enssions have fallen by
47 percent, from 8.4 to 4 45 tonnes per year This
compires to average UK howsehold emissions of
5. 510 6 wpnes per yeur. The emissions should fall
even further over the next few years as the supply
of wood for heating increascs.

henefits

The completion of Eigges electricity grid has
made a significant difference to the island’s

residents, freeing them from dependence on diesel
generators and providing them with @ stable and
affordable mw:r supply A reliable electricity
supply has brought improvements in other areas,
for example, better treatment of drinking water in
some houses, and the elimination of the canstant
nmse of diesel generators. Improved home
wsulation and heating has also yielded benefits,
making it more affordable to keep homes at a
gomfortable temperature. One of the incentives
for eapping electricity use, rather than charging
different amounts according to usage, was to make

i

BCCESS 10 cmtg{vequitahlc. Every household has
the same five kW cap, irrespective of income, sa
distnbuting the available resources equally scross
the sland’s population.

Economic and employment benefits

Eiges electricity gnd supports four part-time
maintenance jobs on (he island, and residents have
also been employed for building work to improve
Trust-owned houses and other buildings. Likewise,
the start of organised harvesting of wood for heating
has created several forestry jobs for residents. A
part-time ‘greén project manager’ post has also
been created. A wader economic impact has come
from having a reliable and affordable electricity
supply, which has enabled several new businesses
to start up, including restaurants, shops, guest
houses and self-catering accommodation. As Eigg
has become known for cutting carbon emissions
and proteciing the environmenf, an ncreasing
number of visitors have come to the 1sjand 1o learn
about its work, bringing a further economic benefit
to the residents,

17




Questions 1-7

Answer the questions below.

Choose NO MORE THAN TWO WORDS AND/OR A NUMBER from Ihe
passage for each answer

1 Approximately how many people live on Eigg?

2 Whal proportion of a UK household's electricity consumplion does an Eigg
haousehold consume?

Apart from wind and sun, where does most of Eigg'’s electricity come from?
What device measures the amount of electricity Eigg's households are using
When renewable energy supplies are insufficient, what backs them up?
What has EHT provided free of charge in all the houses it owns?

N o 0 A ow

Which gardening aid did some Eigg inhabitants claim grants for?

18



Question 8

There are several refersnces

umw in the
mm

Questions B-13

Do the following statements agree with the information given in Reading Passage 17
Write

TRUE If the statement agrees with the Information
FALSE if the stafemeant contradicts the information
NOT GIVEN if there is no informalion on this

8 Electricity was available for the firsl time on Eigg when a new grid was
swilched on.

9 Eigg's carbon emissions are now much lower than bafore

10 Wood will soon be the main source ol healing on Eigg.

11 Eigg is quieter as a result of having a new alecincity supply

12 Well-off households pay higher prices for the use of exira electncity.

13 The new electricity gnd has created additional empioyment opporiunities
on Eigg.

19
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A The forces that operate to bring about change
in Q:ia.m sations can be thought of as winds
which are many and varied - from small

summer breczes that merely disturb a few

papers, to mighty howling gales which cause
devastation to structures and operations,
causing consequent reorientation of purpose
and rebuilding. Sometimes, however, the
winds die down to give periods of relative
calm, periods of relative organisational
stability. Such a period was the agricultural
age, which man (1995) maintains
prevailed in Europe and western socicties
as a whole until the early 1700s. During this
jod, wealth was created in the context of
an agnculturally based society influenced
mainly by local markets (both customer and
labour) and factors outside people’s control,
such as the weather. During this time, people
could fairly well predict the cycle of activities
required to maintain life, even if that life
might be at little more than subsistence level.

B To maintain the meteorological metaphor,
stronger winds of change blew to bring in
the Industrial Revolution and the industrial
age. A%ain. according to Goodman, this
lasted for a long time, until around 1945. 1t
'was characterised by a series of inventions
‘and innovations that reduced the number of

20

You should spend about 20 minut
es
Reading Passage 2 below.

on Questions 14-26 which are based on

Change in business organisations

e —

——

€ This situation prevailed for some time,
with demand still coming mainly from
the domestic market and organisations
stnving to fill the ‘supply gap’. Thus the
most disturbing environmental influence on
organisations of this time was the demand
for products, which outstripped supply. The
saying attributed to Henry Ford that “You
can have any colour of car so long as it 1s
black’, gives a flavour of the supply-led
state of the market. Apart from any fechnical
difficulties of producing different colours
of car, Ford did not have to worry about
customers’ colour preferences: he could sell
all that he made. Organisations of this period
can be regarded as ‘task-oriented’, with
effort being put into increasing production
through more effective and efficient
production processes.

D As time passed, this favourable period

for organisations began to decline. In the
neo-industrial age, people became more
discriminating in the goods and services
they wished to buy and, as technological
advancements brought about increased
productivity, supply overtook demand.
Companies began, increasingly, to look
abroad for additional markets.

At the same time, organisations faced

more intensive competition from abroad

Jor their own products and services. In the

development was accompanied

 focus from mmfacnmﬁ to

ether this merely added value 10
' or whether it was

own right. In the neo-industrial

n countries, the emphasis |
s adding value to and
at Goodman calls the value-




onented time, as contrasted with the task-

oniented and products/services-oriented times
of the past

Today, i the post-industrial age, most people
agree that organisational life is becoming
ever more uncertmn, as the pace of change
quickens and the futare becomes less
predictable. Writing in 1999, Nadler and
Tushman, two US academics, suid: ‘Poised on
the eve of the next century, we are witnessing
a profound transformation n the very nature
of our business organisations. Historic forces
have converged to fundamentally reshape

the scope, strategies, and structures of

large enterprises.’ At a less general level of
annlysis, Graeme Leach, Chief Economist

at the British Institute of Directors, claimed
in the Guardian newspaper (2000) that: ‘By
2020, the nine-to-five rat race will be extinct
and present levels of self-employment,
commuting and technology use, as well as
age and sex gaps, will have changed beyond
recognition.' According to the article, Leach
anticipates that; ‘In 20 years time, 20-25
percent of the workforce will be temporary
workers and many more will be fiexible, ...

25 percent of people will no longer work in
a traditional office and ... 50 percent will

work from home in some form." Continuing
to use the ‘winds of change’ metaphor, the
expectation is of damaging gale-force winds
bringing the need for rebuilding that takes the

opportumity to incorporate new ideas and ways
of doing things.

Whether all this will bappen is arguable.
Forecasting the future is always fraught
with difficulties, For instance, Mannermann
(1998) sees future studies as part art and
part science and notes: ‘The future is full
of surprises, uncertainty, trends and trend
breaks, irrationality and rationality, and nt
1§ changing and éscaping from our hands
as time goes by. It 1s also the result of
actions made by mnumerable more or less
powerful forces” What seems certain is that
the organisational world 1s changing at a
fast rate — even if the direction of change

is not always predictable. Cansequently,

it is crucial that organisational managers
and decision makers are aware of, and

able to analyse the factors which trigger
organisational change.

21
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Questions 14-1a

* This information does
m'mhlhuma
“d!_flﬂlrhﬂlnﬂw

* To find where the
snswers are, look for
words with the same or

sirilar meanings as the

* You may have 1o read
several sentences
You can be sure
you have found the
Appropnale sectwon in
te reading passage,
Question 14
The question has
"predictions’, so find a
paragraph which contains
mare than one of these.
Question 16
* The word ‘warning’
does not appear in the

‘passage, s0
ynuhz:.taiud:lorlhe
s@me expressed i
an indirect way. &

. mmw
re ts
whkhmighlm

negative consequences.

Questions 14-18
Reading Passage 2 has SEVEN paragraphs, A-G

Which paragraph contains the following information?

Wrile the correc! letter, A-G.
14 some specific predictions about businesses and working practices

15 reference lo lhe way company employees were usually managed

16 a waming for business leaders
17 the description of an era notable for the relative absence of change

18 a reason why customer satisfaction was not a high priority

Questions 19-23
Look at the following characteristics (Questions 19-23) and the list of periods bei

Match each characteristic with the correct period, A, Bor C.
Write the correct letter. A, B or C.

NB You may use any letter more than once.

19 a surplus of goods.

20 an emphasis on production quantity.

21 the proximity of consumers 1o workplaces,

22 a focus on the quality of goods,

23 new products and new ways of working.

List of periods

€ The neo-industrial age.

B The industrial age.

22




Questions 24-26
Complete the summary below,
Choose ONE WORD ONLY from the passage for each answer.

Businesses in the 21 century

It is generally agreed that changes are laking place more quickly now, and
that arganisalions are being transformed. One leading economist suggested
that by 2020, up to a quarter of employees wouldbe 24 ... . and
half of all employees would be based in the 25 cisisirertaseasas o Although
predictions can be wrong, the speed of change is not in doubt, and business
leaders need to understand the 26 ................. that will be influential

23
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—— _ You should spend abaut 20 minutes on Questions 27-40, which are “’Wun

[| Ly Reading Passage 3 below.

sy |

Miany studies of the bran processes underlying
the creation of memory consolidation (lasting
memories) have involved giving various human
and animal subjects treatment, while training them
to perform a task. These have contributed greatly to
our understanding.

In pioncening studies using goldfish, Bernard
Agranoff found that protein synthesis inhibitors”
w after training caused the goldfish to forget

st they had learned. In other experiments,
he administered protein synthesis inhibitors
immediately before the fish were trained. The
remarkable finding was that the fish learned the
task completely normally, but forgot it within a
few hours — that is, the protein synthesis inhibitors
blocked memory consolidation, but did not
influence short-term memory.

There is now ext:n;;ve cvideéltgc thaj} short-term
memory is spare many kinds of treatments,
including electro-convulsive therapy (ECT),
that h&:r:dmczury consolidation. On the other
hand, and equally unportantly, neuroscientist
Ivan lzquierdo found that many drug treatments
can block memory without blocki

memary conseldation. Conirary to the hypothes

psychologist Donald
does i
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The creation of lasting memories

We obviously need to have memory ;hat IS Createg
rapidly: reacting to an ever and rapidly changmg
environment requires that. For example, mog
current building codes require that the heights of aj]
steps in a staircase be equal. After taking a couple
of steps, up or down, we implicitly remember the
heights of the steps and assume that the others
will be the same. If they are not the same, we are
very likely to trip and fall. Lack of this kind of
rapidly created implicit memory would be bad for
us and for insurance companies, but perhaps good
for lawyers. It would be of little value to us if we
remembered the heights of the steps only after a
delay of many hours, when the memory becomes
consolidated.

The hypothesis that lasting memory consolidates
slowly over time is supported primarily by clinical
and experimental evidence that the formation of
long-term memory is influenced by treatments
and disorders affecting brain functioning. There
are also other kinds of evidence indicating more
;lgctiy that the memories c;nsolidate over m
T learning. Avi Kami and Dov 1r¢e

that the performance of human subjiat? trm%gd n
a visual skill did not improve until eight hours after
the training was completed, and that improvement
was even greater the following day. Furthermore,
the skill was retained for several years.

Studies using human brain imaging to study chan
i neural activity induced b?l!gmmg Kawaﬁ

reported that the changes continue to develop for




underlying the skill.

There is also evidence that learning-
cha.ngesmdwacnvltyofmmlhembrﬂ

indoced. m

cortex continue to increase for many days after emerg

the training. In an extensive series of studies using
rats with clectrodes implanted in the auditory

cortex, Norman Weinberger reported that, ﬂﬁﬂ a

tone of specific frequency was paired a few times
with footshock, neurons in the rats’ auditory
cortex responded more to that specific tone and
less to other tones of other frequencies. Even
more mterestingly, the selectivity of the neurons’
response 1o the specific tone used in training
continued to increase for several days after the
training was terminated.

It 1s not intuitively obvious why our lasting
memones consolidate slowly. Certainly, one can
wonder why we have a form of memory that we

Although there seems to be no npe
reason 1o conclude that a ﬁlﬁliml
such as a brain could not qmldy make a
memory, the fact is that animal brains do
Thus, memory consolidation must serve somie
very important adaptive function or furictions.
There is considerable evidence suggesting that the
slow consolidation is adaptive because it enables
neurobiological processes occurring shortly after |
learning to influence the strength ofnmnaqr for
experiences. The extensive evidence that

can be enhanced, as well as impaired, by treatments
administered shortly after traiming. provides
minguing support for this hypothesis.
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Questions 27-40
- Quwstions 27-31
Choose e comect letter. A B Cor D
BWMWWWMRMPWSW
A injecting goidfish at different stages of the experiments
B Iraining goldfish 1o do different types of task
C using diferent types of treatment on goldfish
D comparing the performance of different goldfish on cenain tasks.

28 Most findings from recent studies suggest that
A drug treatments do not normally affect short-term memories.
B long-term memories build upon short-term memories.
C short and long-term memories are formed by separate processes.
D ECT treatment affects both short-and long-term memories.
a:mm? h, what does the writer want to show by the example
A Prompt memory formation underlies the performance of everyday tasks.
-] Routine tasks can be carried out unconsciously.
c Pmaccidamscanh'npairmmncuanofmmq.
D Cumhmhionmﬁonmchmregulaﬁommmtbemtahedby
the memory.
30 Observations about memory by Kami and Sagi
i A cast doubt on existing hypotheses.
B related only to short-term memory.
C were based on tasks involving hearing,

31 What did the experiment by Shadmehr and Holcomb show?
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Questions 32-36

Do the following statements agree with the views of the writer in Reading
Passage 37

J
YES if the statement agrees with the views of the writer
NO if the statement contradicls the views of the writer

NOT GIVEN if it is impossible to say what the writer thinks about this

32 The lraining which Kami and Sagi's subjects were given was repeated over
several days.

33 The rats in Weinberger's studies leamed to associate a cartain sound with a
specific experience.

34 The results of Weinberger's studies indicated that the strength of the rats’
learned associations increases with time.

35 Itis easy lo see the evolutionary advantage of the way lasting memories in
humans are created.

36 Long-term memories in humans are more stable than in many other species.

Questions 37-40
Complate the summary using the list of words, A=l, below.

Long-term memory

Various researchers have examined the way lasting memories are formed
Laboratory experiments usually involve teaching subjects 10 do something
37 ................ , and treating them with mild electric shocks or drugs. Other

m ‘monitor behaviour after a learning experience, or use sophisticated
Wm;mmmm
a all _-»Wﬂwﬂmﬂ:atlaaﬁmmm

27




a4

Writing module (1 hour)

Guidance

—

The Academic Writing test lasts for an hour, and consists of two parts. The first
part is shorter than the second, and carries only one third of the marks, so yoy
should spend about 20 minutes on this part and 40 minutes on the second part.

For each part you should allow enough time to plan what you are going to say
before you begin wnting, and to check what you have written afterwards.

—

—

Task 1

In the first part, you have to write a minimum of 150 words altogether. You are
presented with a visual which you have to describe in words, providing a general
overview with supporting details. The visual might be a line graph, a bar chart, a
pie chart, a diagram or a plan, and the subject of the visuals are varied. Subjects
might include social trends, economics, natural or industrial processes, or heaith,
but you do not need any specialist knowledge to do the task.

You are expected to write in a neutral or formal style.

Task 2

in the second part, you have to write an essay with a minimum of 250 words. This
involves commenting on an issue or problem which is presented in the task. You
are expected to discuss various points of view and arrive at a conclusion. Topics
are varied, and might include health, lifestyles, environment, or education, but
you do not have to have any special knowledge to be able to do the task.

You are expected to write in a neutral or formal style.
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- ‘f I‘ - = 3
aspects of aﬁmnyw
Teaching quality 65 63 & q
Print resources 87 89 88
Electronic resources 45 72 88
Range of modules offered 32 30 27
Buildings/teaching facilities 77 77 77

Tip strip

« Make sure you understand exactly
what tha visisal shows In this task, the
figures m the table

« relite to jusl cas unversity,
« are from thres differant wurveys
¢ ndwate changes in student attitudes,

Vou g2t this key information from 1we
sources: the first santance of the wak

i# of the wisuails)

self and the
* for Task 1, the second part of the ubnc

to abways the ama

Start wath an mntraductory sentence
which summarises what the visual
thows. Bon't simply copy down
what's i the rubiric = thiz £ 3 'waste of
your time

Take some time before you starl

writing to look for any improwements.
reductions. fluctugtions ang smilantsss

Repadl the modt stiking point {lrst

In this task, it is probably that there
W33 3 graavimprovement'in studenis'
opmians of the university's electronic
1ES0UICeS

* Giva data to support the claims you
make - aiting specific percantages But
you don’t need to quate aacr f
for every point - you will gain masks for
chowing that you can be selective

« Don't wnite to0 much: 150-200 words
will be enough. You won't be gwen any
extra marks for writing a longer plece
and you nesd 10 [Bave enolgh Sme
for Task 2

You should spend about 40 minutes on this task.

Winle about the following topic:

Some say that because many people are living much longer, the age at
which people retire from work should be raised considerably.

Te what extent do you agree or disagree?

Give reasons for your answer an
knowledge and expernience

Whnite at least 250 words

Tip strip

* Be clear whith spesilic sspact of the
135k you nesd to discuss I ths tagk
You newd to talk about whenesr tha
age of fetirement should be raed
anad of 50, whether it shouid be by a
sl or large smount

The se<ond hine 51 the task in Tatk 2
diffars fiom papar to paper

Yonud cOU give your poant of vievs
anag then provide ilustrations anad
Fadence Lo wppart this SEMIgTY

Ot rJn woukt esplore both gdes

of the queston dnd Inen 9o on to

dinclude any relevant examplas from your own

give yOur own opinion and explam
the sguments you find perticularly
persualiee

Wiite Lupng parsgraphs and make
wire eath peiag=aph hay # clesr
central S




;_ﬂking module (11-14 minutes)

Guidance

The speaking test lasts for 11-14 minutes, and it consists of three parts:

« Part 1 takes the form of a dialogue with the exarminer, who asks questions
about you, your life, and things you are familiar with. It lasts for four to
five minutes.

« Part 2 is a short presentation given by you about a general topic that the
examiner chooses. You can decide the specific topic yourself. The topic is
connected to your own life and experiences.

You have up to one minute to prepare your presentation, and you can speak for

up to two minutes. There is a clock on the table, and the examiner reminds you of

the timing if necessary.

* Part 3 takes the form of a dialogue with the examiner. He/she asks you about
your views on impersonal subjects which are loosely connected to the topic of
your presentation. This lasts between four and five minutes.

* In Part 1, the questions which the examiner asks you are usually factual, and
quite simple, such as "When ...7", "Who ...7’, '"How often ...?", or "What kind
of ...7"

* InPart 2, you will be given a candidate card.

* The topic of your presentation is outlined in the first line of the candidate
card. It starts with 'Describe ...".

* You may be asked about something that happened in the past, or someone
you know, or something you would like to do in the future,

* Three separate bullet points tell you what to include in your presentation,
and a fourth line tells you to explain something in more detail, such as your
feelings, or the reason for something.

| * In_Part 3, the questions that the examiner asks you are more complex,

. and involve lengthier responses, You may be asked "What is your opinion

‘about ...7'; To what extent do you thlnl: ..,?'; "How im isitto..?";

m@m«m%k ,mmtmlghtthem befor .7

30



Answar thees quastions.

Tell me about your country.

What's the weather like in your country?
Hm“':‘” time of year do you think is best in your country? Why?
Ve you visited many different parts of your country? Why/Why not?

Now let's talk about your family,

E Yau share a house with any of your family? Who?
mast people in your family live In the same town or village?
When did yous last have a family party?

Which person in your family are you most similar to? How?

ol - -
Lt T & ONE minuts 1= o | S R folliayis
ey of LS W |

10 fro minutas i3 (alp _57'."(‘-['_1-! :

Dascribe a place in another ove b0 visit
: part of the world that you would love to visit in @~ |
~ thefuture. i |

You should say:

Wwhat you know about the place
AOW you know about it

I.i"

oW you would go there '
Kplain why you would Jove to visit that place

o

'go fto that place with?
avelling generally?

-: w -

lon to discuss TV programmes about other places,

ids of TV programme about different places are mosit popular in
learn more abaut geography from TV than ey can from books?

/ programmes about different places encourage people to
8s? Why/Why nol?
Ik about visiting other countries.

phis do you think international travel has increased in

. 38y it's important for people fo find out about another country

i N~ reg?
or pe :}g understand the language of the countries they

ider the tourism industry.

Sy 2 b rt in the economy of your counlry? How?
Y i big pll factors can have a negalive effect on the

nrechiclal

4  kinds of development might there be in the

3
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Listening module (approx 30 minutes + 10 minutes transfer time)

Guidance

« In Section 1. the focus is on listening for facts in a conversation (social context)
» In Section 2, the focus is on listening for facts in a talk or presentation

(social context).

« In Section 3, the focus is on listening for in a conversation (2-3 people) facts
and opinions {(education/training context).

« In Section 4. the focus is on listening for specific details and main ideas in a
lecture, in an education/training context.

General preparation

Although you cannot predict exactly the language which the IELTS test will

contain, there are several ways you can prepare for taking the listening test.

* Do plenty of IELTS listening practice tests - listen to the recording only once and
try to build up your confidence for taking the real test.

* Aim to listen to spoken English in a wide variety of situations and topic areas. Listen
to CDs, radio, TV and Internet broadcasts featuring native speakers of English.
Don’t worry if you don’t catch every word, you'll understand more with practice.

Preparation for specific sections

* To help prepare you for Sections 1 and 3 (two or more people interacting); if
you live in a country where English is spoken, try to listen to people conversing,
particularly in ‘transactional situations' (where people are trying to get
something done), e.g. in shops, hotels, clinics. Also try to engage people in
conversation yourself. Listen for particular phrases which signal key elements,
such as a speaker’s opinion or which point is being emphasised.

* To help prepare for Sections 2 and 4, (‘long turn’ monclogues, with one person
speaking for some time without interacting with others), try to listen to podcasts
on the Internet and more formal talk shows on radio channels like the British

WWW(MMdeVm&dM&;nM

l

h'_-*:hrv-" s
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Questions 11-20
Questions 11-15
Choose the comrect answer, A, BorC.

Tamerton Centre
11 The Tamerton Centre was set up in order to encourage people

A 10 enjoy being in the counltryside.
B to help conserve the countryside.
C to learn more about the countryside.

12 Last year's group said that the course
A built their self esteem.
B taught them lots of new skills.
C made them fitter and stronger.

13 For the speaker, whal's the most special feature of the course?
A You can choose which activities you do.
B There's such a wide variety of acfivities,
C You can become an expert in new activities.

14 The speaker advises people to bring
A their own board games.
B extra table tennis equipment.
C a selection of films on DVD.

15 Bed-time is strictly enforced because
A it's a way lo reduce bad behaviour.
Mhnhdbmn




notaliowed.

* In this type of task, you
can use each option

= Listen for phrases with
maodals such as - ‘you
don‘thaveto ...,
"they're a must ...,
'you can it you wish
. as wel) as adjectives
like "banned’.

#?M:.u;.lr‘.h reses

17 m m SraperesvarEnt R

13 sun mm Fas s sdTEsamd RN 1 -

19 Aerosol deodorant

20 Towel . R

Rules

A You MUST take this -
B You CAN take this, if you wish .
C You must NOT take this

35
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23 Water inlet

..................

25 Overflow tank
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Tip strip
Questions 26-30
Ouring the pause in the
muddie of the recarding.
dmm 26-30 1
. N ta know whp

g what Questions
&17i|1d30ﬂ!hr
peachen’s activities but
Questions 28 and 29 are
the pupils' actnimes

Questions 2630
Complete the fiow chart balow,

Questions 2, @ww from the box and write the comrect letter, A-G, next to

O Mmoo m»

P'-——ﬂ—-______‘_____-_____—-

identify sequence.
Ask questions

Copy.

Demonstrate meaning.

Distribute worksheet.

Draw pictures.
Present sentences

LESSON OUTLINE YEAR THREE
TOPIC: ENERGY

ACTIVITIES

Teacher: Introduce word
Pupils: look and listen

| Todcher: 26-................ |
Pupils: look and listen .

-

Teaeher Present question
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Questions 31-40
Questions 31-40

Campiete the notes below.

Write NO MORE THAN TWO WORDS for each answer

Background

oﬂ’hﬁ}b

pass through

*  Oxydgen tanks considered 063 ..ovnviicniiinan,

* fish swim bladders
* animals without gills — especially bubbles used by 33 ... .. rnanaEssy

38

Creating artificial gills

* Taking in oxygen : mammals — lungs; fish — gllls
* Long-held dreams - humans swimming underwater without oxygen tanks

ardd large

* Attempts o extract oxygen directly from water
* 1960s ~ prediction that humans would have gilis added by 32 ........c.cooea...
¢ ldess for artificisl gills were inspired by research on

Building a simple artificial gill
®* Make a watertight box of a material which lets 34 ..................

*  Fill with sir and submerge in water
* Important that the diver and the water keep 35 ... ... ...
mﬂhmm‘ wu Nepsvanbie e

,&-nnna?m u-gmn-tafmav

R L.-m Wiressstiqnneerean




~ Reading modu "'ﬁ hours

l}n eyt -I ':-.

] G it adh =18
sequences or i

Recbgnis'ing wirit

As the IELTS test i5 a proficiency test, it is not based on a specific hm
syllabus, This means that you cannot predict exactly the language which the
test will contain. :
Aim to improve your general language knowledge and skills, 35 well as to
develop effective strategies

Aim to read appropriate materials about a wide range of tapics as often as .
possible. Even academic texts about different subjects have a high propertion
of words and structures in common,

Try also 10 increase your reading speed. The length of time allowed for each
section of the reading test is relatively short, so you will need to be able to
read the texts and the questions quickly.

Qver time, your general proficiency in English will increase and your potential
test performance will rise,

When you are preparing to take the Academic Reading test, you should try to
develop strategies for doing the test which work well for you. Some strategies
are usetul for most people, but in other cases what works well for one person
might riot work so well for another. For example, some people find it best to
read each text quickly before attempting to do the tasks, while others simply

skim the text and then read parts of it selectively at the same time as they are
doing the tasks,

The types of task found in the Academic Reading test are limited, sa although
yau cannat predict exactly which ones a tast might contain, you will be able

to familiarise yourself with all the possible task types. it is very important that
you know what to expect in general, and have practised doing the tasks before

you do the test. You will be able to develop strategies for doing the tasks which
work best for you

One strategy which benefits most people is the use of guesswork. When you

are reading the texts and questions, you will almast certainly come across words
and phrases which you are unfamiliar with. Use the context, as well as your
xnowledge of any other English words that are similar, to guess their meaning,
i you come across a question which you find particularly difficult, move on to
the next one and then FEtumn 1o it later. If you still find it too difficult, guess the
answer - you might get it nght, Yauy won't lose extra marks for giving a wrong
Answer, but you wen't gain any mark if you leave a question unanswered.

B e LR,
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Reading Passage 1 below.

"' You should spend about 20 minutes on Questions 1-13, which are based on

= —

Sport Science in Australia

Theprnf_umoml career paths available to graduates
courses relating to human movement and
Sport science are as diverse as the graduate’s
imagination. However, undergraduate courses
with this type of content, in Australia as well as
:15 mstiwother Wcsttt:;'n countries, were originally
*d as preparation programmes for Physical
Bducatton(PE)leachers.P . .

The initial programmes commenced soon after
the conclusion of World War II in the mid-1940s.
One of the primary motives for these initiatives
was the fact that, during the war effort, so many
of the men who were assessed for military duty
had been declared unfit. The government saw the
solution in the providing of Physical Education
: s in schools, delivered by better
prepared and specifically educated PE teachers.

Later, in the 1970s and early 1980s, the surplus of
Australians ing with a PE degree obliged
institutions delivering this qualiii_icnlttilon to identify
new employment opportunities for their graduates,
resulting in the first appearance of degrees catering

for recreation pr fessiunals.deln many inls;zigu,
is diversity of programme livery mere o
ivered by physical educators, as a side-

40

perspective, sport is now seen as an area with the
potential for high returns. It 15 quite significant
that the busmessman Rupert Murdoch broadened
his business base from media to sport, having
purchased an American baseball team and an
Australian Rugby League competition, as well as
seeking opportunities to invest inan English football
club. No business person of such international
stature would see fit to invest in sport unless he
was satisfied that this was a sound business venture
with ideal revenue-generating opportunities,

These developments have confirmed sport as a
business with professional management structures,
marketing processes, and development strateges
in place. They have indicated new and developing
career paths for graduates of human movement
science, sport science, exercise science and related
degrees. Graduates can now visualise career paths
extending into such diverse domains as sport
management, sport marketing, event and facility
management, government policy development
perfaining to sport, sport journalism, sporl
psychology, and sport or athletic coaching.

Business leaders will only continue ther
enthusiasm for sport if they receive returns for
their money. Such returns will only be forthcom!
if astute, enthusiastic and properly educal
professionals are delivering the programs that
eamn appropriate financial returns. The successful
universities of the 21st century will be those that
have responded to this challenge by delivering such
S ; 0C with communit

budgets is reaching ¢
¢ that is sati e




mmr health official the
title ul' Nhumu- for Health', when in fact this
officer has functioned as ‘Ministei for Sickness
and the Construction of Hoar:lalq Government
focus ly has to change. If the change is not
brought s for philosophical reasons, it will
occur naturally, because insufficient funding will
be available to address the ever-increasing costs of

Graduates of human movement, exercise science
and sport science have the potential to become
major players in this shift in policy focus. It1s these

who already have the skills, knowledge
and understanding to initiate community health

education programmes to reduce cardio-vascular
disease, (0 reduce medical dependency upon
diabetes, to improve workplace health leading to
increased productivity, to initiale and promote
programmes of activity for the elderly that reduce
medical dependency, and o maintain an active
lifestyle for the unemployed and disadvantaged
groups in society. This is the graduate tha
governments will be calling upon to shift the
community focus from medical dependency to
healthy lifestyles in the decades ahead.

The career paths of these graduates are developing
at a pace that is not evident in other professions.
The contribution that these graduates can make to
society, and the recognition of this contribution is
at an unprecedented high, and all indications are
that it will continue to grow.
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Questions 1-5
Complete the flow chart below.
Choose NO MORE THAN TWO WORDS from the passage for each answs,

The history of sports and physical science in Australia

A lot of people identified as being 1 ..oovivienn,

\d

Introductionof PEto 2 ......... -

¥

Special training programmes for 3 ..................

\

4 e of PE graduates

*

Identification of alternative 5 ..................

\d

Diversification of course delivery

il

42



Questions 6-13
« There's no need 10

answer the
words, Just write T, of

F, or NG.

+ The statements follow
the order of the
information in the
reading passage.

« To find the part of the
reading passage which
contans the answer,
look for words and
phrases with similar
maanings.

« Read sach complete
suatement before
deniding the answers

Question 13

This statement spunds
reasonable in the light of
what is said in the reading
pazsage, and may be true
However, it must be stated
by the writar for it to be
definitely troe

7 Rupert Murdoch has a personal as well nsa’hmltm Mﬂt sport
8 The range of career opportunities available to sport graduates is increasing
9 The interests of business and the interests of universities are linked. -

10 Governmenls have been focusing too much attention on preventative
medicine.

11 It is inevitable that government priorities for heaith spending will change.
12 Exisling degree courses are unsuitable for careers in communily health.

13 Funding for sport science and related degrees has been increased
considerabily, :
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’ An assessment of micro-v

A In terms of micro- srunewable energy soturees sl

L

You:hmddapmdahawZOMsm Juestion
Reading Passage 2 balow.

(kW) turbine” 15 ot the biggest ¢ of the spectran
a pole as h:fh as a four-storey house, this i
turbine, and the sort of thing you could urshll v
money. According to one estimate, 15-kW n 1. -
mAXIITIAT uui ut), casting £41,000 lnpuld:nn -
is cupable of livering 25,000 kilowatt-hours (K
placed an a suitably windy site,

1 don't know of any credible studies of the greenhot
i producing and installing turbines, so my e
mote broad than usual, However, it is wnrﬂi . If turbi
about as carbon mtensive per pound stcrltngo Dt - L as
electnical motors, which seems a reasonable assump n,
manufacture will be around 640 kilograms (
s probably about as carbon intensive as
£1.000 That makes the carbon footprint ml )
that installing & wrbine creates) 30 tonnes.

The carbon savings from wind-powered elmtnl:ll}'
carbon intensity of the electricity that you're re

generation replaces the coal-fuelled pu‘tofllln
words, if yvou live in the UK, let’s say that rather th L
electnaity, which comes from a mix of coal, gas, ¢ '-E' * ‘
sowrces, the effect of your turbine is to reduce the us
stationzs. That's reasonable, because coal 15 the jeasty
electnaty mix. In s case the carbon saving is rou

kWh, so you save 1€ 1onnes per year and pay back th & e
just 14 months - @ great start

[he UK government bas recently introduced a i e energy
that pays wdivideal producers 24p per cu::gym:tmlp  money they
ﬁawnnﬁmrmvﬁmlbuluﬁenxlhngmhsdﬂnﬂym_ﬂ rid at
sr.-prf\nnuch Sp per unit. “’uhmmmmommm,
tasck £7.250 per year on thew mvestment. That pays back the costs in about six
vears. Itmakagnod&:mcm sense and, for people who care about the carbon
seangs for thewr own sake. it looks like a fantastic move. The carbon investment
ﬁl\:batn;\ﬁmuavw;:dgﬂyﬁm&utmmm
'y umponant W remember these sums rely on @ wind turbine having a
favoursble location ) o

So, & face value, the turbune looks hike emironmentally,
ﬁﬂmmﬂ?&ﬁ;ﬂ:ﬁ.m&
SO PETSpECtVE MmissIng analysis 50 spent
s mooey wisely” [t has mvested 24p ﬂu-&-m-nmm
oct & & massive £250 per tonne of srved c&ﬁ-ﬂnhhﬂ
e mdn‘-ryu?
ﬂhmmuutﬁu&h |

because e govermment dqﬂ w much
2 Caben syvangs aoe far P, Mty
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F  Nevertheless, although the micro-wind turbine subsidy doesn’t look like the very

best way of spending government resources on climate change mitigation. we
talking about mvesting only about 0.075 percent per year of %he nan%n s %DP t?get
4 one percent reduction in carbon emissions, which is a worthwhile benefit. In other
waords, it could be much better, but it could be worse. In addition, such investment
helps to promote and sustain developing technology.

There is one extra favourable way of looking at the micro-wind turbine, even
if it is not the single best way of investing money in cutting carbon. Input-
output modelling has told us that it is actually quite difficult to spend money
without having a negative carbon impact. So if the subsidy encourages people
to spend their money on a carbon-reducing technology such as a wind turbine,
rather than on carbon-producing goods like cars, and services such as overseas
holidays, then the reductions in emissions will be greater than my simple sums

above have suggested.

.

a type of engine

** & unit for measuring electrical power
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Tip strip
Questions 14-20
* The headings are not
in the same order as
the information in the
reading passage
* Sometimes a paragraph
which is in more than
one of the headings
Choose the heading
the topic of
paragraph.
* You can only use each
heading once.
fe=cn,
find that it fits a later
eaiisoh | o
k and choose 2
different one for the

Questions 14-26

Questions 14-20
Reading Passage 2 has SEVEN paragraphs, A-G.

Choose the correct heading for each paragraph from the list of headings beloy

Write the correct number, i-ix.

List of Headings

I Abetter use for large sums of money.

ii  The environmenlal costs of manufacture and installation.
lil Estmates of the number of micro-turbines in use

iv. The environmental benefits of running a micro-turbine.

v The size and output of the largest type of micro-turbine.
vi Alimited case for subsidising micro-turbines.

vii Recent improvements in the design of micro-turbines.
viii An indirect method of reducing carbon emissions

ix The financial benefits of running a micro-turbine

14 Paragraph A ...
15 ParagraphB ... .. ... ... ..

16 ParagraphC ... .. ...
17 Paragraph® ... ...
18 Paragraph€ .. . s
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= Only tw staterments
are correct
« In the Reading test. the
options ae in the same
arder as the information
i the reading passage

« For each catement, find
the part of the passage
which 15 miost irkely 1o
contan the answer

D The UK gnvemrmnl contrib

Questions 23-26

Complete the sentences below.

E Theynnproduoamraeﬁaanﬂnnawm ' :

Choose NO MORE THAN THREE WORDS from the passage for each ans
23 ... would be a more effective target for government investmer

!han mmmrbmes

24 An indirect benefit of subsidising micro-turbines is the support it pre

25 Most spending has a .

effect on the environmeant.

26 I people buy a8 micro-turbine, lhey nave less money to spend on B‘mllﬂ

foreign holidays and .

Tip strip

Question 23-26

« The sentences follow the ardar of information
n the reading passage, 0 when you've found
the par! where the first one 5, you can find
e rest more gaguly.

« if the maamum sumber gl words o three
t'< llgaly that at lzast one answer will rontain
thras words.

« Read the whole sentence carsfuily befors
CNOOSNG 3N SnYwWer
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« Capy the words carefully, especally when
copyirg words which you aren’t familiar with
Check the spelling afmmatds
Question 23
The w=ntence compares micro-turbines with
womething else The answer must be 2 Noun
piwsse
Question 25
The word alter the space & a noun, and the
wort before the space « 'a’, S0 the answey must
be an Jdective beginning with 2 ConsSOnang. .




Greek city. However, considerabiy
aboul the socio-economic context

production was organised.

The bulk of pottery found at Akrotin 15 lOﬂ")’
made, and dates from the late fifteenth century BC.
it clearly fulfilled a vast range of the settiement’s
requirements: more than fifty different types of pots
can be distinguished. The pottery found includes a
wide vanety of functional types like storage jars,
smaller confainers, pouning vessels, cooking pots,
dnnking vessels and so on, which all relate to specific
sctivites and which would have been made and
distributed with those activities in mind. Given the
large number of shapes produced and the relatively
high degree of standardisation, 1t has generally been
assumed that most, 1if not all, of Akrotini pottery
was produced by specialised crafismen m a non-
domestic context. Unfortunately neither the potters”
workshops nor kalos have been found within the
excavated area. The reason may be that the ceramic
workshops were located on the periphery of the site.
which has not yet been excavated. In any event, the
ubiquity of the pottery, and the consistent repetition
of the same types in different sizes. suggests
producuon on an industnal scale.

The Akrotinan potters seem to have responded to
pressures beyond their houscholds, namely to the
ncreasing complexity of regional distribution and
exchange systems. We can imagine them as full-
ume crafismen working permanently in a high
production-rate craft such a5 pottery f]‘:.muf.:l:!wc
and supporting themselves entirely  from the
proceeds of their craft In view of the above one
“n0 degin 0 speak in terms of mlsn-pra:-drus:-‘&
n?nfrw and the existence of organised u-wiu;sho;as
:;m;rzzfncr:‘ntmg Li.-f ‘pchﬂ\'! 1550-1500 BC
Akrotin remaine 0 CouCton Was organiscd at
o ;:{»;Imc:;n; 3:"[‘. .‘f‘r‘: question, as there is no

IRy evidence. Our entire knowledge

AL E
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may already have been in S
evidenced by a graduated series of lead weights -
made in disc form ~ found at the site. The existence

of units of capacity in Late Bronze Age times 15
also evidenced, by the notation of units of a hquid
measure for wine on excavated containers.

It must be recognised that the function of pottery
vessels plays a very important role in determining
their characteristics. The intended function affects
the choice of clay, the production technique, and
the shape and the size of the pots. For example,
large storage jars (pithoi) would be needed to store
commodities, whereas smaller containers would be
used for transport. In fact, the length of a man's
arm limits the size of a smaller pot to a capacity of
about rwenty litres; that is also the maximum 2 man
can comfortably carry.

The various sizes of container would thus represent
standard quantities of a commodity, which is a
fundamental element in the function of exchange

Akrotinian merchants handling a commodity such
4s wine would have been able to determine 2asily
the amouat of wine they were transporting from the
number of containers they carried in their ships
since the capacity of each container wag known
0 be [4-18 litres. (We could draw a parallel her

with the current practice in Greece of selli il i
17 kilogram tins.) & Ol in

We may therefore assume that the shape, canac
and, sometimes decoration of vessels are 'm*hpa“'ty'
of !he commodity contained by them. §; ’
mmdividual transactions would n:;;rmally mx-ﬁff’
e






check that the other
oplions aré wWrong

« |f you can’t findl the
correct answer, and
you're runmng oul
of ime, 'y better 1
guiss than 10 leave the
question unanswened

Question 28

To find where the
aniwer d_look for woras
related to ‘assdmption’
and ‘gpecighsts’, then
read the follewing
senlences canelully

Questions 26-32

Complete each sentence with the correct ending, A-F, below.

Wirite the correct letter, A~F.

29 The assumption that standard units of weight were in use could be based on
30 Evidence of the use of standard units of volume is provided by

31 The size of certain types of containers would have been resiricted by

32 Attempts to identify the intended capacity of containers are complicated by

A the discovery of a collection of metal discs.

the size and type of the sailing ships in use.

vanations in the exact shape and thickness of similar containers.
the physical characleristics of workmen.

marks found on wine conlainers,

the variety of commodities for which they would have baen used,

TmOoOOm

Tip strip Question 30

Questions 29-32 and Questions 39-40 hgﬂwh?’fﬁwwgmotfpuwd
* Read all the options quickly befo o With a sevlar meaning me

the task Trau?g Question 32
-mhwmmmmoi.nmlm mﬂmmw&m&ham
in the reading passage 3 smiar meaning 10 “attempts 1o identify
. . the intanded capacity’. and then read the
G pemcptonancorbe i s



Tip strip
Questions 33-38
DonT answes the
m&m by uhng
O'Ul'ﬂlu'l Anywer

only gctording to
what the witer of the
Passage says

The answer to this
questian can't be found
0 3 smgle part of the

Questons 33-36

Do the foliowing statements agree with the views of the writar in Reading Passage 37
Write

YES if the statement agrees with the claims of the wrilear

NO i the statement contradicts the claims of the writer
NOT GIVEN [t it is impossible to say what the writer thinks about this

33 Thers are plans lo excavale new areas of the archaeological site in the
near fulure.

34 Some of the evidence concerning pottery production in ancient Akrotini comes
from written records.

35 Pats for transporting liquids would have held no maore than about 20 litres.

36 It would have been hard for merchants ta caloulate how much wine was on
their ships.

37 The capacity of containers intended to hold the same amounts differed by up
to 20 percent.

38 Regular trading of goods around the Aegean would have led lo the general
standardisation of quantities,

Question 39-40
Choose the correct letter, A, B, C ar D.

39 What does the writer say about the standardisation of container sizes?

A Containers which looked the same from the outside often varied
in capacity.

B mmmwmmummsmwmumuame

stemali meddlﬁuuﬂtypesofdaymsuﬂadms:zewauons.

51



P \ g7 Fon oy e ! = . o oy
I

For Task 1, look for samples of graphs, charts and diagrams, and practise analysing
the information. You can do this in your own language; the important thing is that
you are able to process visual information both accurately and quickly.

Then practise summarising the information in English.

For Task 2, read articles from a wide range of suitable sources and subject matter.
In addition, practise writing essays according to the process suggested in the
Writing File,

While practising for both tasks, impose a time limit on yourself so that you get
used to writing quickly, and have enough time left to check your essay. Also, pay
attention to your handwriting. Ask other people to tell you if it is legible, and
practise letter formation to improve your handwriting.

Manage your time effectively. Don’t spend all your time writing. Allow sufficient
time to read the rubncs and, for Task 1, to analyse the visual. Also allow time to
check and correct your writing afterwards.
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The diagram betow show how lsather goods are produced.

Summarise the information by selecting and reperting the main
faatyres, and making comparisons wheye relevant

Wite af loaxgy 150 words

A method of producing leather goods

\ — ' —_— r !'I —_— & -
I
O L*
J
by
& RGN,
I




sed on i
e R

Part 2 tests your ability to speak continuously, and at length, on a familiar topi

— — - e - ——

- _ " '.\ : ﬂl T’
Listen to short talks and dialogues in English about everyday topics. Suitable
sources would be published listening materials, as well as TV, radio or the Internet.
Listen to longer interviews and discussions about more serious, impersonal
topics, selecting from the same types of source.

Take opportunities to talk to English speakers as often as possible. Use
communication strategies to keep the conversation going if necessary.

Practise giving short presentations about experiences you have had or people
you know, etc. If possible, record yourself and listen to the recording.

Practise giving short presentations to other people, and ask them to give

you feedback.

While you are speaking, don‘t focus too much on accuracy, If you think too
much about grammar, your fluency may be affected.

If there is 2 word or phrase you can’t remember, find other ways to say what
you want 1o say. You are in control of the language you use in a speaking test.
if the general topic is one you don't know much about, use your imagination.
You will be assessed on how you speak, not on what you say.




Tip strip

= Choose a wenes that

you can Say 2 lot about,

aven if it's not tha ane
you anjoy the most
* Mske notes about avery
buliet point, and ahout
the kine at the bottom
lexplamn . ..)
Follow-up questions
O TN just give 2 bried
arswer 1o faliow-un
Quaston:

Tip strip

Foreign programmes ..

* Question 3 When ths
question is long, you
can 3y "Pardon’, of
‘Sorry ~ could you say
that agan’. You will not
lose marks for s

Children and TV ...

Use appropnate phrases

for expesssing operrons

Changes in the media ...

* Question 1 Talk about
both advantages and
OtadvanLags:

* Question 3 Use the
tuturs 1ense in your
answer, antd phiases
M “it's fdeady trat
Tepect, "or
.P'm 4

7w have one minits 1o maks notes on the fallowing 85 Thet jou nive oF

Vs mimvistes 1o lalk ebout b

Describe a TV series which you enjoy watching
You should say:
whal the series is about
who presents it/acts in it
how often it is on
and explain why you enjoy watching the series so much.

Is this series popular with many other people you know?
Do you watch TV aften?

Let's talk about foreign TV programmes.

What kind of foreign TV programmes are popular in your country?

What sre the advantages of having foreign-made programmes on TV?
Some peopie think governments should control the number of foreign-made
TV programmes being shown. Do you agree? Why?

Now let's talk about children dand TV.

What do you think are the qualities of a good children’s TV programme?
What are the educational benefits of children watching TV? :
Many people think adults should Influence what children walch. Do you
agree? Why?

Now let's talk about changes in the media.

What do you think are the agvantages and disadvantages of having
TV broadcast 24 hours a day’

In what ways have advances in technology influenced the way paople
watch Tv?

What changes do you think will oceur in broadcast media in the next 20 yes
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Reading module (1 hour)

PO L You should spend about 20 minutes on Questions 1-13, which are based on

Reading Passage 1 below.

T'he Rufous Hare-Wallaby

The Rufous Hare-Wallaby is a species of Australian kangaroo, usually known by its Aboriginal name,
‘mala’. At one time, there may have been as many as ten million of these little animals across the arid and
semi-arid landscape of Australia, but their populations, like those of so many other small endemic species,
were devastated whencat,smdfomminu‘oduced~i11deed,duﬁngthe 1950s it was thought that the
mala was extinct. But in 1964, a small colony was found 450 miles northwest of Alice Springs in the
Tanami Desert. And 12 years later, a second small colony was found nearby. Very extensive surveys were
made throughout historical mala range — but no other traces were found.

Throughout the 1970s and 1980s, scientists from the Parks and Wildlife Commission of the Northern
Territory monitored these two populations. At first it seemed that they were holding their own. Then in
late 1987, every one of the individuals of the second and smaller of the wild colonies was killed. From
examination of the tracks in the sand, it seemed that just one single fox had been responsible. And then,
in October 1991, a wild-fire destroyed the entire area occupied by the remaining colony. Thus the mala
was finally pronounced extinct in the wild.

Fortunately, ten years earlier, seven individuals had been captured, and had become the founders of
a captive breeding programme at the Arid Zone Research Institute in Alice Springs; and that group
had thrived. Part of this success is due to the fact that the female can breed when she is just five
months old and can produce up to three young a year. Like other kangaroo species, the mother carries
her young — known as a joey — in her pouch for about 15 weeks, and she can have more than one joey
at the same time.

In the early 1980s, there were enough mala in the captive ation to make it feasible to start a
reintroduction programme. But first it was necessary to discuss this with the leaders of the Yapa people.
Traditionally, the mala had been an important animal in their culture, with strong medicinal powers for
old people. It had also been an important food source, and there were concerns that any returned
to the wild would be killed for the pot. And so, in 1980, a group of key Yapa men was invited to visit
the proposed reintroduction area. The skills and knowledge of the Yapa would play a significant and
enduring role in this and all other mala projects.

With the help of the local Yapa, an electric fence was erected around 250 acres of suitable habitat, about
300 miles northwest of Alice Springs so that the mala could t while protected from predators. By
1992, there were about 150 mala in their enclosure, which became known as the Mala Paddock. However,
all attempts to reintroduce mala from the paddocks into the unfenced wild were unsuccessful, so in the
end the reintroduction programme was abandoned. The team now faced a situation where mala could be
bred, but not released into the wild again.
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Russia, including
with plague, the imposition of quarantines, and
istri

Measures to combat infectious
disease in tsarist Russia

A ln lltg— second half of the seventeenth century,

Russian authorities began implementin
controls at the borders ofthr:g empire tg
prevent the importation of plague, a highly
infectious and dangerous disease. Information
on disease outbreak occurring abroad was
regularly reported to the tsar’s court through
vanous means, including
(travelling merchants), military personnel
deployed abroad, undercover ents, the
network of Imperial Foreign Office embassies
and representations abroad, and the customs
offices. For instance, the heads of customs
offices were instructed to question foreigners
entering Russia about possible epidemics of

dangerous diseases in their respective countries.

If news of an outbreak came from abroad,
relations with the affected country were
suspended. For instance, foreign vessels were
not allowed to dock in Russian ports if there

was credible information about the existence of

epidemics in countries from whence they had
departed. In addition, all foreigners entering
Russia from those countries had to undergo

guarantine. In 1665, after receiving news about

a plague epidemic in England, Tsar Alexei
wrote a fetter to King Charles II in which he
announced the cessation of Russian trade

relations with England and other foreign states,

These protective measures to have

been effective, as the country did not record any
and in the next
three decades. It was not until 1692 that another

cases of plague during that year
plague outbreak was recorded in the Russian

ince of Astrakhan. This epidemic continued

Ermﬁ?:e months and killed 10,383 people, or
about 65 of the city’s population. By
the seventeenth century, preve
umdommmumwm
ing the isolation of persons ill

| on of explanatory public health
mﬂmmm

commercial channels

67

C During the eighteenth century, although none

of the occurrences was of the same scale as
in the past, plague appeared in Russia several
times, For instance, from 1703 1o 1705, a
plague outbreak that had ravaged Istanbul
spread to the Podolsk and Kiev provinces

in Russia, and then to Poland and Hungary,.
After defeating the Swedes in the battle of
Poltava in 1709, Tsar Peter [ (Peter the Great)
dispatched part of his army to Poland, where
plague had been raging for two years. Despite
preventive measures, the discasc spread
among the Russian troops. In 1710, the
plague reached Riga (then part of Sweden.
now the capital of Latvia), where it was
active until 1711 and claimed 60,000 lives
During this period. the Russians besieaed
Riga and, after the Swedes had surrendered
the city in 1710, the Russian army lost 9,800
soldiers to the plague. Russian military
chronicles of the time note that more soldiers
died of the disease after the capture of Riga
than from enemy fire dunng the siege of
that city.

Tsar Peter [ imposed strict measures to prevent
the spread of plague during these conflicts.
Soldiers suspected of being infected were
isolated and taken to areas far from military
camps. In addition, camps were designed to
separate divisions, detachments, and smaller
units of soldiers. When plague reached
Narva (located in present-day Estonia) and
threatened to spread to St. Petersburg, the
newly built capital of Russia, Tsar Peter [
orderad the army to cordon off the entire
boundary along the Luga River, including
temporarily halting all activity on the river.
In order to prevent the mo;er;cmt %!‘ people
and goods from Narva to St Petersburg
and !%avgomd, roadblocks and checkpoints
were set up on all roads. The tsar’s orders
were rigorously enforced, and those whe

disobeyed were hung.




E However, although the Russian authorities
applicd such methods to contain the.
of the disease and limit the number o

victims, all of the measures had a provisional
character: they were intended to respond to a
specific outbreak, and were not designed as a
coherent set of measures to be implemented
systematically at the first sign of plague. The
advent of such a standard response system
came a few years later.

The first attempts to organise procedures
and carry out proactive steps to control
plague date to the aftermath of the 1727-
1728 epidemic in Astrakhan. In response

to this, the Russian imperial authorities
issued several decrees aimed at controlling
the future spread of plague. Among these
decrees, the ‘Instructions for Governors

and Heads of Townships’ required that all
governors immediately inform the Senate —
a government body created by Tsar Peter | in
1711 to advise the monarch - if plague cases
were detected in their respective provinces.

urthermore, the decree required that
all persons suspected of carrying the disease
and their su ent isolation. In addition,
it was or sites where Pl!m
victims were found had 1o be encircled by
checkpoints and isolated for the duration
of the outbreak. These ch nts were to
remain operational for at least six weeks.

The houses of infected ons were to

be burned along with all of l‘hﬁnmml
property they contained, including farm
animals and cattle. The governors were
instructed to inform the neighbouring
provinces and citics about every plague case
occurring on their territories. Finally, letters
brought by couriers were heated above a fire
before being copied.

The implementation by the authorities of
these combined measures demonstrates their
intuitive understanding of the importance of
the timely isolation of infected people to limit
the spread of plague.
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UL i You should spend about 20 minutes on Questions 27-40, which are basad on
E’}‘Qﬁ *f.*f-.a?‘-g Reading Passage 3 below.

Recovering a damaged reputation

In 2009, it was revealed that some of the information published by the University of East Aﬂslhkt'.‘hmmc
Research Unit (CRU) in the UK, concerning climate chancfc, had been maccurate. Furthermore, it was
alleged that some of the relevant statistics had been withheld from publication. The ml.hgmy
affected the reputation not only of that institution, but also of the Intergovernmental Panel on Climate
Change (IPCC), with which the CRU is closely involved, and of climate scientists in general. Even if
the claims of misconduct and incompetence were cventually proven to be largely untrue, or confined 1o
a few individuals, the damage was done. The perceived wrongdoings of a few people had raised doubts
about the many.

The response of most climate scientists was to cross their fingers and hope for the best, and they kept a
low profile. Many no doubt hoped that subsequent independent inquiries into the IPCC and CRU would
draw a line under their problems. However, although these were likely to help, they were unlikely to undo
the harm caused by months of hostile news reports and attacks by critics.

The damage that has been done should not be underestimated. As Ralph Cicerone, the President of
the US National Academy of Sciences, wrote in an editorial in the journal Science: *Public opinion
has moved toward the view that scientists ofien try to suppress alternative hypotheses and ideas and
that scientists will withhold data and try to manipulate some aspects of peer review to prevent dissent’
He concluded }:.hlat ‘the perceived misbehavior of even a few scientists can diminish the credibility of
science as a whole.”

An opinion poll taken at the beginning of 2010 found that the proportion of people in the US who
trust scientists as a source of information about global warming had dropped from 83 percent, in 2008,
to 74 percent. Another survey carried out by the British Broadcasting Corporation in February 2010
found that just 26 percent of British people now believe that climate change is confirmed as being largely
human-made, down from 41 percent in November 2009. :

Regaining the confidence and trust of the public is never casy. Hunkering down and hoping for the
best — climate science's current strategy — makes it almost impossible. [t is much better to learn from
the successes and failures of organisations that have dealt with similar blows to their public standing.

{E l‘acdl. climate sc{;:ncfe nfedg professional help to rebuild its reputation. It could do worse than follow
the advice given by Leslie Gaines-Ross, a ‘reputation strategist' at Public Relations (PR compan
Weber Shand wick, in her recent book Corporate Reputation: !g.?] Steps to Safeguarding a(:‘f })Emunn;
Reputation. Gaines-Ross's strategy is based on her analysis of how various organisations responded to
cnises, such as desktop-printer firm Xerox, whose business lummeted dl.u-ingl-l.ghacnlwos. and the USAS
National Aeronautics and Space Administration (NASA) aﬁI::r the Columbia shuttle disaster in 2003.

The first step she sug§csts is to *take the heat - leader first'. [n many cases, chief executives who publicly

accept responsibility for corporate failings can begin to revers i :
but not always. If the leader is held at least pn;tlg; mponsib?cugmraflall?mmm m lht;iﬂ.?s'

impossible to convince critics that a new direction can be charted with that same person at the helm.

This is the dilemma facing the heads of the IPCC and CRU. Both have been blamed for their isations’

problems, not least for the way in which have dealt wi € organisations
public calls for their removnl.§ ihey have dealt with critics, and both have been subjected to

et both organisatio e B
without a change of leadership. 1% @ppear to believe they can repair their reputations
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Reading module (1 hour)

Geoff Brash ’

Geoff’ Brash, who died in 2010, was a gregarious Australian businessman and philanthropist who
encouraged the young to reach their potential, ’

Born in Melbourne to Elsa and Alfred Brash, he was educated at Scotch College. His sister, Barbara,
becanwamawnedarﬁs:mdpﬁmakenl{is&ther,mm ran the Brash retail music business that had |
been founded in 1862 by his grandfather, the German immigrant Marcus Brasch, specialising in pianos
It carried the slogan ‘A home is not a home without a piano.’ ’

In his young days, Brash enjoyed the good life, playing golf and sailing, and spending some months |
travelling through Europe, having a leisurely holiday. He worked for a time at :ﬂpyerdrcgarw stores |
before joining the family business in 1949, where he quickly began to put his stamp on things. In one of
his first management decisions, he diverged from his father’s sense of frugal aesthetics by re-carpeting |
the old man's office while he was away. After initially comalaining of his extravagance, his father grew

1o accept the change and gave his son increasing responsibility in the business.

After World War 11 (1939-1945), Brash's had begun to focus on white goods, such as washing machisies and |
refrigerators, as the consumer boom took hold. owever, while his father was content with the business he |
had built, the younger Brash viewed expansion as vital. When Geoff Brash took overas managing director in
1957, the company had two stores, butafter floating it on the stock exchange the following year, he expanded
rapidly and opened suburban stores, as well as buying into familiar music industry names such as Allans,
Palings and Suttons. Eventually, 170 stores traded across the continent under the Brash’s banner,

Geoff Brash learned from his father's focus on customer service. Alfred Brash had also been s pioneer i |
introducing a share scheme for his stafY, and his son retained and expanded the plan followng the float.

Geoff Brash was optimistic and outward looking. As a result, he was a pioneer in both accessing and ‘
selling new technology, and developing overseas relationships. He sourced and sold electric guitars,
organs, and a range of other modern instruments, as well as state-of-the-art audio and video equipment.
He developed a rclationshig with Taro Kakehashi, the founder of Japan’s Roland group, which led to a '
joint venture that brought e ic musical devices to Australia,

In 1965, Brash and his wife attended a trade fair in Guangzhou, the first of its kind in China; they were
one of the first Western business people allowed mto the country following Mao Zedong's Cultural
Revolution. He returned there many times, helping advise the Chinese in establishing a high quality piano
factory in Beijing; he became the factory’s agent in Australia. Brash also took leading jazz musicians Don |
BurmwsandlmmsMorﬁsontoChma,onnmptha:rcmunducedjmtommyChmwcmnlicilns. ,
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. You should spend about 20 minutes on Questions 2740, which are based on
Reading Passage 3 below.

Video game research

Although video games were first developed for adults, they are no longer exclusively reserved for the
grown gps in theshomc. In 2006, Rideout and Hamel rqi?ned that as many as 29 percent of preschool
children (children between two and six years old) in the United States had played console video games,
and 18 percent had played hand-held ones. Given young children’s insatiable eagerness to learn, coupled
with the fact that they are clearly surrounded by these media, we predict that preschoolers will bo
continue and increasingly begin to adopt video games for personal enjoyment. Although the majority
of gaming equipment is still designed for a much older target audience, once a game system enters the
household it is potentially available for all family members, including the youngest. Portable systems
have done a particularly good job of penetrating the younger market.

Research in the video game market is typically done at two stages: some time close to the end of the
product cycle, in order to get feedback from consumers, so that a marketing strategy can be developed;
and at the very end of the product cycle to ‘fix bugs’ in the game. While both of those types of research
are important, and may be appropriate for dealing with adult consumers, neither of them aids in dmgmng
better games, especially when it comes to designing for an audience that may have particular needs, suc
as preschoolers or senior citizens. Instead, exploratory and formative research has to be undertaken in
order to truly understand those audiences, their abilities, their tive, and their needs. In the spri
of 2007, our preschool-game production team at Nickelodeon had a hunch that the Nintendo DS" — with
its new features, such as the microphone, small size and portability, and its relatively low price point -
was a ripe gaming platform for preschoolers. There were a few games on the market at the time which
had characters that appealed to the younger set, but our game producers did not think that the game
mechanics or design were appropriate for preschoolers. What exactly preschoolers could do with the
system, however, was a bit of a mystery. So we set about doing a study to answer the query: What could
we expect preschoolers to be capable of in the context of hand-held game play, and how might the child
development literature inform us as we proceeded with the creation of a new outlet for this age group?

Our context in this case was the United States, although the games that resulted were also released in
other regions, due to the broad international reach of the characters. In order to design the best possible
DS product for a preschool audience we were fully committed to the ideals of a ‘user-centered approach’,
which assumes that users will be at least considered, but ideally consulted during the development process.
After all, when it comes to introducing a new interactive product to the child market, and particularly
such a young age group within it, we believe it is crucial to assess the range of physical and cognitive
abilities associated with their specific developmental stage.

Revelle and Medoff(2002) review some of the basic reasons why home entertainment systems, computers,
and other electronic gaming devices, are often difficult for preschoolers to use. In addition to their still
developing motor skills (which make mani ulating a controller with small buttons difficult), many of
the major stumbling blocks are cognitive. ‘lgumgh preschoolers are learning to think symbolically, and
understand that pictures can stand for real-life objects, the vast majority are still unable to read and write,
Thus, using text-based menu selections is not viable. Mapping is yet another obstacle since preschoolers
may be unable to understand that there is a direct link between how the controller is used and the activities
that appear before them on screen. Though this t is changing, in traditional mapping systems real
life movements do not usually translate into game- activity. '
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Jing statements agree with the claims of the wi

LEMMa s with the claims of the wriler
_ mmmmmmm_
mrm a'itiammumtosaywharmemm-__

27 Video game use amongst preschool children is higher in the US t

28 The proportion of preschool children using video games is lik * s

29 Parents in the US who own gaming equipment generally 3l
to play with it.

30 The type of research which manufacturers usually do is aimed at i
game design.

31 Both old and young games consumers require research which is specifically

Complete the summary using the list of words/phrases, A—l, below.

Problems for preschool users of video games

mmﬁ] l'lﬂrﬂ!eifﬁz .................. aresulﬁcienﬂy de

Certain types of control are hard for these children to 1 ate:
forexample, 33 .................. can bemoreeffecuvathan stylus
Also, although they already have the ability to relate 34 “.' :
real-world objects, preschool children are largely unable to ~=

the connection between theirown3s ...~ and-lhe - ‘
they can see on the screen. Fhally,mmmsum e Ty
understand 36 .. T

Em Fn.l',"_
| written menus







Writing module (1 hour)

Ui L You should spend about 20 minutes on this task.
i — —_—

The charts below show the percentage of monthly household income
spent on various items by two different groups in one European

country.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.

Percentage of household ' Percentage of W :
income spent on different items* income spent on different items*

Low income group High income wnnp

" Earnings exclugding house rentpurchase

You should spend about 40 minutes on this task.

Write about the following topic.

Modern rachnology has made it easier for individuals to download
copyrighted music and books from the internet for no charge.

To what extent is this a positive or a negative development?

Give reasons for your answer, and include any rei - r owi
knowledge or experience. ¥ relevant examples from your

White at ileast 250 words.
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Reading moduyfe (1 hour) | |
‘ mmm:&m on Questiol 3, i

-
The economic importance
of coral reefs

A lot of people around the world are dependent, or partly dependent, on corz| reefs for their livelihoods.
They often live adjacent to the reef, and their livelihood revolves around the direct extraction, processing
and sale of reef resources such as shell fish and seaweeds. In addition, the i+ homes are sheltered by the

reef from wave actioi.

Reefl flats and shallow reef lagoons are accessible on foot, without the need for a boat, and so allow
Wwomen, children and the elderly to engage directly in manual harvesting, or “reef-gleaning’. This is a
signihcant factor distinguishing reef-based fisheries from near-shore sea fisheries. Near-shore fisheries
arc typically the domain of adult males, in particular where they involve the use of boats, with women
and children restricted mainly to shore-based activities. However, in a coral-reef fishery the physical
accessibility of the reef opens up opportunities for direct participation by women, and conscquently
Increases therr independence and the importance of their role in the community. It also provides a place
for children to play, and to acquire important skills and knowledge for later in life. For example, in the
South West Island of Tobi, in the Pacific Ocean, young boys use simple hand lines with a loop and bait at
the end to develop the art of fishing on the reef. Simi larly, in the Surin Tslands of Thailand. young Moken
bovs spend much of their time playing, swimming and diving in shallow reef lagoons, and in doing so
build crucial skills for their future daily subsistence.

Secondary occupations, such as fish processing and marketing activities, are often dominated by women,
and offer an important survival strategy for households with access to few other physical assets (such as
boats and gear), for elderly women, widows, or the wives of wfirm men. On Ulithi Atoll in the western
Pacific, women have a distinet role and rights in the distribution of fish catches. This is because the

canoes, made from mahogany logs from nearby Yap Island, are obtained through the exchange of cloth ~

made by the women of Ulithi. Small-scale reef fisheries support the involvement of local women traders
and their involvement can give them greater control over the household income, and in negotiating
for loans or credit. Thus their role is not only important in providing income for their families, it also
underpins the economy of the local village. =
Poor people with little access to land, Izbour and financial resources are particularly reliant on exploiting
natural resources, and consequently they are vulnerable to seasonal changes in availability of those
resources. The d.versity of coral reef fisheries, combined with their physical accessibility and the
protection they pravﬁ:fam bad weather, make them relatively stable compared with other fisheries,
or land-based agricul production.

In many placea.ﬁmm:fnnyﬂenaﬂasnrﬁoumhm&,madasamofsaﬁn food for future times
of ueed. In Manus, Papua New Guinea, giant clams are collected and held in walled enclosures on the
reef, until they are needed during periads of rough weather. [n Palau, sea cucumbers are seldom eaten
dunng good weather in an effort o conserve their populations for months during which rough weather
prohibits good fishing.
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A It has been point d out that leaming mathematics and science is not so much
Tacts as Ieaming ways of thinking. It has also been emphasised that in

learn ience, people often have to change the way they think in ordinary

, For in arder to understand even simple cancepts such as heat

and W s of thinking of temperature as a measure of heat must he
abandoned and a on between ‘temperature’ and ‘heat’ must be leamed

These changes in ways of ing are often referred to as conceptual changes
But how hw dl:i;;?;ﬂrpen? How do young people change their
ways of thinking as they develop and as they learn in school”

B Traditional instruction based on telling students how modern scientists think :
does not seem to be very successful. Students may learn the definitions, the
formulae, the terminology. and yet still maintain their previous conceptions, This
difficulty has been illustrated many times, for example, when instructed students
are interviewed about heat and tempersture. It is often identified by teachers as a
dlmmhymlmlymﬁleconcepts learned in the classroom; students may be able
to repeat a formula but fail to use the concept represented by the formula when |

C The psychologist Piaget suggested an interesting  hypothesis relating to the
mof :ognitive change in children. Cognitive change was expected to resull |
the pupils’ own intellectual activity. When confronted with a result thai
challenges their thinking - that is, when faced with confiict - pupils realise that
they need to think again about their own ways of solving problems, regardless of
whether the problem is one in mathematics or in science. He hvpothesised that
conflict brings about disequilibrium, and then triggers equilibration processes
Mﬂhﬂhuﬁ produce cognitive change. For this reason, according to Piaget
and his colleagues, in order for pupils to progress in their thinking they need to
be actively engaged in solving problems that will challenge their current mode
bf reasoning. However, Piaget also pointed out that young children do not always
discard their ideas in the face of contradictory evidence. They may actuaily
discard the evidence and keep their theory.

D Piaget’s hypothesis about how cognitive change occurs was later translated into
an educational approach which is now termed ‘discovery learning’. Discovery
learning initially took what is now considered the ‘lone learner’ route The role
of the teacher was to select situations that challenged the pupils’ reasoning; and
the pupils’ peers had no real role in this process. However, it was subsequently
proposed that interpersonal conflict, especially with peers, mi ght play an important
role in promoting cognitive change. This hypothesis, originally advanced by
Perret-Clermont (1980) and Doise and Mugny (1984), has been investigated in
many recent studies of science teaching and learning.

E Christine Howe and her colleagues, for example, have compared children's
progress in understanding several types of science concepts when they are given
the opportunity to observe relevant events. In one study, Howe compared the
progress of 8 to 12-year-old children in understanding what influences motion
down a slope. In order to ascertain the role of contlict in group work, they
created two kinds of groups according to a pre-test: one in which the children
had dissimilar views, and a second in which the children had similar views.
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"~ Youshould spend about 20 minutes on Questions 2740, which are baseg o,
"%\ Reading Passage 3 below.

——'—.‘_____h--

Learning lessons from the past |

Many past societies collapsed or vanished, leaving behind monumental ruins such as lhosethudum '
Shelley imagined in his sonnet, Ozymandias. By collapse, | mean a drastic decrease in human ation
size and/or political/economic/social complexity, over a considerable arca, for an extended tim By
those standards, most people would consider the following past societies to have been fam vietims of
full-fledged collapses rather than of just minor declines: the Anasazi and Cahokia within the boundaries
of the modern US, the Maya cities in Central America, Moche and Tiwanaku societies in South Amiericy,
Norse Greenland, Mycenean Greece and Minoan Crete in Europe, Great Zimbabwe in Affrica, Angkor
Wat and the Harappan Indus Valley cities in Asia, and Easter Island in the Pacific Ocean. :

The monumental ruins left behind by those past societies hold a fascination for all of

at them when as children we first learn of them through pictures. When we grow up, ma
vacations in order to expericnce them at first hand. We feel drawn to their often spectac
beauty, and also to the mysteries that they pose. The scales of the ruins testify to the f;
power of their builders. Yet these builders vanished, abandoning the great structures that th
at such effort. How could a society that was once so mighty end up collapsing?

It has long been suspected that many of those mysterious abandonments were at least partly
by ecological problems: people inadvertently destroying the environmental resources ¢
societies depended. This suspicion of unintended ecological suicide (ecocide) has been
discoveries made in recent decades by archaeologists, climatologists, historians, paleo:
palynologists (pollen scientists). The processes through which past societies have ndern
by d.a.maing their environments fall into eight categories, whose relative importance di
to case: deforestation and habitat destruction, soil problems, water management problen
overfishing, effects of introduced species on native species, human population growth, and in
impact of people, 'g

Those past collapses tended to follow somewhat similar courses constituti variations on a th
Writers find it tempting to draw analogies between the course of hmnanngomenn and th
| of individual human lives ~ to talk of a society’s birth, growth, peak, old age and eventw
| But that metaphor proves erroneous for past societies: they declined rapidly
peak numbers and power, and those mpidmm must have come as a surprise and sha
ciuzctlxs,A Obvcilu;:rsly. too, this tmjeti:;my is nmdlum that all past societies followed unvaryingly
completion: different societies collapsed to different degrees : different way:
while many societies did not collapse at all, Srees and i ‘somewhat -

Today man ple feel that environmental problems overshado . RN
civi!is»atitztu_}r ese environmental problems include the same eight m;tall the other .'
four new ones: hmnm-causcdqlingﬂe:.h:nge,buildup-oftmticchcmicalsinmeenvnonmqyi,p.'st nt,
shortages, and full human utilisation of the Earth's photosynthetic capacity, But the seriousn
it imated? WAll It s eloned. Are the risks greatly exagge
pmblemsfasmr_thanitmtmo@onu?%mdepmmt:g:cg‘;smuenmagrult creating D
Wwe count on being able to substitute some new resource e.g. plastics mmd.m lararm A
fish)? Isn't the rate of human mumfmmu..}“h S0'ar cRerg,. O
world’s population to level off at some manageable number of people? already on course for
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Writing module (1 hour)

WIS W You should spend about 20 minutes on this task.

_u_ma I ————
The graph and bar chart below show the average monthly rainfay and
temperature for one region of East Africa.

Summarise the information by selecting and reporting the main
features, and making comparisons where relevant.

—
Write at least 150 words.

Average monthly rainfall and temperatures

Average monthly rainfall and temperature

Give reasons for your answer, and include any relevant examples from your oW
knowledge or experience.

Write at least 250 words.

IS
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h room do famiffes usually spend most time in? Why?
What lypes of thing do people usually put an the walls of their rooms?
Is it more important for a room to look nice, or to be comfortable? Why?
Let’s go on to talk about interior design.
mwmmmmmmwﬁwmm?
Let’s discuss indoor and outdoor living spaces next.
mﬂﬂmwmammmmwammm

ng spaces? Why?

What do you think living spaces will be like in the future? Why?
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13 What does the speaker say about paint quantity?
A It's not negessary 10 have exact room measuremants
B II's better o OVEI‘ESW"MI& than o underastimale

C An automalic calculator can be downloaded from t e Intemel

14 Whal does Community RePaint do?
A Il paints people’s houses without payment
B N coliects unwantad paint and gives It away

C It selis unused paint and donales the noney to charity

Queslions 15-16
Choose TWQO letiers, A-E

What TWO pieces of advice does the speaker give at
A Don't buy expensive paint

Test the colour before buying a lol

Choose a light colour

Use waler-based paint

m o O

Ellj' i‘ﬂol_._f]h pairt for more than or e apphcaton

Questions 1718
Choose TWO letters, A~E

What TWO pieces of advice does the speaker give about preparat
A Replace any loose plaster.

Don't spend too long preparing surfaces

Use decorators' soap 1o remove grease from walls

Wash dirty walls with warm water

moow

Paint over cracks and small holes

Questions 19-20

Choose TWO letters A-E

What TWO pieces of advice does the speaker give about painting
A Puta heater in the room

Wash brushes in cold water

Use a roller with a short pile

Apply paint directly from the tin

m o O m

OLF"H ':j‘i'crrﬁ and windows
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9 module (1 hour)

You should spénd gbout 20 minutes on Questions -1
Reading Passage 1 below.

= R

3, which sre based on

[‘_H [ .
Trends in the Indian f§shnon
and textile industries

During the 1950s, the Indian fashion scene was exciting, stylish and very graceful. There were no celebrity
designers or models, nor were there any labels that were widely recognised. The valuc of 8 garment “_'r'“
1udged by its style and fabric rather than by who made it. It was ed as perfectly acac;{tat_'lc. e cp
for high-society women, to approach an unknown tatlor who cou make a garment for a va. Tlpeclh.
providing the perfect fit, finish and style. They were proud of getting a bargain, and of giving their own
name o the end result.

The 1960s was an era full of mischievousness and celebration in the arts, music and cinema. The period
was charactensed by freedom from restrictions and, in the fashic_m world, an acceptance ot: innovative
types of material such as plastic and coated polyester, Tight-fitting Aurtas™ and churidars and high
cotffures were a trend among women.

The following decade witnessed an increase in the export of traditional matenals, and the e}rrwal i India
of international fashion. Synthetics became trendy, and the disco culture affected the fashion scene.

It was in the early 30s when the first fashion slore 'R.m_»'iss_anl'.omncd i'n Mumbai. Al that time garments
were retailed for a four-figure price tag. American deﬂms like Calvin Klein became popular. In India
too, contours became more masculine, and even the sa kamee=""" was designed with shoulder pads

With the evolution of designer stores came the culture of designer fashion, along with its hefty price tags.
Whatever a garment was like, consumers were convinced that a higher price tag signified elegant designer
fashion, so garments were sold at unbelievable prices. Meanwhile, designers decided to get themselves
noticed by making showy outfits and associating with the right celebrities. Soon, fashion shows became
competitive, each designer attempting to out-do the other in theme, guest list and media coverage.

In the last decade of the millennium, the market shrank and ethnic wear made a comeback. During the
recession, there was a push to sell at any cost. With fierce competition the inevitable occurred: the once
hefty price tags began ﬂmm*ﬁ:‘%ﬁﬂy. and the fashion-show industry followed suit. However,
the liveliness of the Indian fashion scene had not ended - it had merely reached a stable level.

At the beginning of the 21* century, with new designers and models, and more sensible designs, the
fashion industry accelerated once again. As far as the global fashion industry is concernad, Indian ethnic
designs and materials are currently in demand from fashion houses and garment manufacturers. India is

 'the: thirg |l- wdl ml the second largest producer of silk, and the fifth largest producer of

The Indian ganment and fabnic industries have many fundamental advantages, in terms of a cheaper,

ﬂw force, o ¢ production, raw materials, fiexibility, and 8 wide range of designs with
sequ ﬂb- m“'“k‘: embroidery. In addition, that India provides garments to international fashion
houses at ¢ ve prices, with a shorter lead time, and an effective monopoly on certain designs, is

\
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l able growth at Didcot:
e of a report by South \
Oxfordshire District Council

A

The UK Government’s South East Plan proposes additional housing ' f D
i nt’s § _ : ! growth in the town of Didecot.
L\;’hlch has been a designated growth area since 1979, We in South Oxfordshire District Council consider
at, although Dideot does haye potential for further growth, such development should be sustainable. ‘

well-planned, and supported by adequate infrastructure and community services,
: |

Recent experience in Dideot has demonstrated that large greenfield" developments cannot resource all
the necessary infrastructure and low-cost housing requirements. The ensuing compromises create a legacy
of local transport, infrastructure and community services deficits, with no obvious means of correction
We wish o ensure that (here is greater recognition of the cost attached (0 housing growth, and that a
means is found to resource the establishment of sustainable communities in growth areas. '

C

it of job opportunities in the railway industry, and in a large. military |
 Didcot's expansion. Development at that time was geared to providing

Until the 1950s, the developn

ordnance depot, was the spur to Didcot's

homes for-thglﬂm vay and depot workers, with limited investment in shopping and other services for the
local population. Dide f, : M ed to develop ) Broadway as a compact town centre, and achieved only a strip
of shops along one side of the main street hemmed in by low density housing and service trade uscs.

D - .

tegic planning policies directed significant new housing development to Didcot

g’()mllﬁ]m trategic | Sty
anners recognised Didcol’s potential, with rapid growth in local job opportunities and good rai
connections for those choosing to work farther afielt? However, the town is bisected by the east—west
mlwny.andmma adygrove, the urban extension to the north which has been built since the
1980s, felt, and still feel, cut off from the town and its community.

E

Population growth in the new housing areas failed to spark adequate private-sector investment in town
centre uses, and the limited investment which did take place — Didcot Market Place development in
1982, for instance ~ did not succeed in delivering the number and range of town centre uses needad by
the growing population. In 1990, public-sector finance was used to buy the land required for the Orchard
Centre develop comprising a superstore, parking and a new street of stores running parallel to

Broadway. The development took 13 years to complete.

123




e

| ' |
The idea that, by obliging developers of new housing o cgntnbutc to “:l of ST

service requirements, all the nccessary finance could be raiscd, h;w:: by
public finance was still needed to deliver major projects such as l'?! g3 _ :
outskirts of the town at Milton, the improved railway crossing al B The eans pochie s S
Such projects were delayed duc to difficulties in sccuring public finance. same problem alsg e
back expansion of health and social services in the town.

G

In recent years, government policy, in particular the requirement for developers that fe
the units in a ngcw housing p:!évcllfopmcnt should bc low cost homﬁﬂ,_ hsa__ i
the economics of such development, as it has limited the developers™ contribu
infrastructure. The planning authorities are facing difficult choices in prior g the
infrastructure which must be funded by development, and this, inmrp,m_
finance will need to provide a greater proportion of infrastructure project Costs.

H .

The Government’s Sustainable Communities Plan seeks a holistic appr
in which housing, employment, services and infrastructure of all
delivered in a way which avoids the infrastructure deficits that have occurr
past. This report, therefore, is structured around the individual compone .
and shows the baseline position for each component. - e

Didcot has been identified as one of the towns with which the Government is 3
whether additional growth will strengthen the economic potential of the tow :
infrastructure and improve environmental standards. A programme of work.
the local community about their aspirati ns for the town as well as other sta
over the coming months, and will lead to the development of a strategic mas

be in optimising scarce resources to achieve maximum benefits for the town.

* land that has never previously been built on
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L-énglfh'ge diversity

I(”)m: of the most influential ideas in the study of languages is that of universal grammar (UG). Pur
b(;?_\:urd by Noam Chomsky in the 1960s, it is widely interpreted as meaning that all languages are
. ically the same, and that the human brain is born langua y, with an in-built programme that s
able to Interpret the common rules underlyi ﬂlﬂbﬂlﬂt ongue. For five decades this idea prevailed,
and influenced work in lmﬁ\ﬂmm. sychology and cognitive sc To understand language, it implied,
YOou must sweep aside the uge diversity of languages, and find their common human core.

Since the theory of UG was proposed, linguists have identified many universal lan :

, L linguists nlifiec guage rules, However,
there are almost always exceptions. It was once believed, for example, that if 2 language had syllables*
that begin with a vowel and end with a consonant (VC), it would also have syllables that begin with
a \frfénszsan! ;nd le:ul with a vowel (CV). This w& al lasted Lmﬁl'ze!_m. when linguists showed that
Arremte, spoken by It ous Australi the area around Alice Springs in the Northern Territory.
has VC syllables bﬁtno% o | e A

Other non-universal wm the basic rules of putting words together. Take the rule that
every language mmmmmm. nouns, verbs, adjectives and adverbs. Work in the past

fwo decades has shown that several lack an open adverb class, which means that new adverbs
cannot be readily 'ﬁl'med,ﬂnlﬁﬁn nglish where you can tum any adjective into an adverb, for example

soft” into - Others, such as Lao, spoken in Laos, have no adjectives at all. More controversially,
some linguists argue that a few ages, such as Straits Salish, spoken by indigenous people from

north-western regions of North America, do not even have distinct nouns or verbs. Instead, they have a
single class of words to include events, objects and qualities. '

- Isputable universals have been found lacking. This includes recursion, or the ability
to infinitely pla  One grammatical w inside a similar unit, such as ‘Jack thinks that Mary thinks
that ... the bus will be on. ime". It is widely considered to be the most essential characteristic of human

apart from the communications of all other animals. Yet Dan Everett at [llinois
iblished controversial work showing that Amazonian Piraha does not have

diversity of languages is the key 1o understanding human communication? Linguists
y Australian National University in Canberra, and Stephen Levinson of the Max
Planck Institute for Psycholinguistics in Nijmegen, the Netherlands, believe that languages do not share a
common set of rules. Inste they say, their sheer variety is a definiing feature of human communication —
something not seen in other animals, While there is no doubt that human thinking influences the form
that language takes, if Evans and Levinson are correct, language in turn shapes our brains. This suggests
that humans are more diverse than we thought, with our brains having differences depending on the
language cnvironment in which Wwe grew up. And that leads to a disturbing conclusion: every time a
language becomes extinet, humanity loses an important piece of diversity.

If languages do not obey 4 single set of shared rules, then how are they created? ‘Instead of universals,
you get stanil{a;d cngineering solutions that languages adopt again and again, and then you get outliers,’
says Evan?'. ¢ and Levinson argue that this is because any given language is a complex system shaped
by many da‘cmrs. mcluding culture, genetics and history. There are no absolutely universal traits of
language, they say, only tendencies. And it is a mix of strong and weak tendencies that characterises the
‘bio-cultural’ mix that we call language.

127
















Speaking module (11-14 minutes)

TR Answer these questions

Let's talk about where you live now.

Do you live near here?

Do you live in a house or an apartment?

How long have you lived thera?

Do you like where yau are living now? Why/Why not?

Now let’s talk about holidays.

How often do you get holiday from work/college?

Do you usually stay at home when you have a holiday, or do you go
somewhere? Why/Why not?

What did you do the last time you had a holiday?
Do you wish you had more holidays? Why/Why not?

You have one minute to make noles on the following topic. Then you have
two minutes to talk about it.

Censidsr these questions, and then answer them.

s talk about young people doing sport
What sports do most young people in your country enjoy doing?
What are the main benefits for young people of learning to play different

7 -
Can you suggest some ways lo encourage young peopia to play more sport’?
Now let's talk about sports on TV. o

at kinds of sport do people in your country most often watch on TV?

mmmﬁ’g’mmmwhamauwmwﬂ £
mmm#ﬂmdmmwwmmhMﬂ
20 ysars?
wm_mm-mmm(mmww
mz:t advantages and disadvantages fo a country when ithosts 8
win international competitions, or in promating spart for everyone?
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itior lives in the 3 .................. . of the city ,

cell phone number: 4 .................. \

!

0 pack |
_"_,” N ;I

-Lmi,.. clothes
m'tdme towesrat 55
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1 mmmmmnmwaytscmwsdmﬂmlmm
theme parks?

A It's suitable for different age groups.
B it offers lots to do in wet weather.
C It has a focus on education.
12 The Park first apened in
A 1980,
b 1997.
C 2004.
43 What's included in the entrance fee?
A most rides and parking
B all rides and some exhibits
5 parking and all rides

‘Becoming a member of the Adventurers Club means
i ynumawdmgqueulngsumum

B you can enter the Park free for a year.

-B mmvidtﬂerlamzonescloﬁedtootherpadple.

T mmemumu visitors to
mum

-_ lea _mbmnﬁumofanm
Mhm«anﬁmu,
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ecial eafety
Es .

vear a particular type of clothing
mpanied by an adult if under 16

I
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Questions 21-30
Questions 21-22
Choose TWO lelters, A-E.

What TWO things do Brad and Helen agree &
A Listening skills are often overlooked
B Leamning to listen well is a_s;l_:ﬂ_f._rf S eas
C It's sometimes acceptable o argue agal
D
E

Listeners should avoid interrupting speakers
|

Questions 23-24
i}

Choose TWO letlers, A-E.

It's important for each individual's goals e
Everybody in the group should have the st
Goals should be a mix of the realistic and t

Goaismustalwaysmbg.wl vithin

mooOm

Questions 25-26
Choose TWO leﬂ'e:s, A-E.
A Itdoem‘texpmmmhmm il.
It says nothing about the potential value of conflict
It talks too much abe H‘W'l-ﬂ-f‘ldf] | m

moow
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(l4Si 0 Questions 31-40
Write ONE WORD ONLY for each answer.

The Greenhouse Project (Himalaya
Problem .
*  Short growing season because of high aibitde

*  Fresh vegetables imported by lorry or by 32 ...
expensive

" Noat Fo e “P’W‘bﬂf L_ 1ts from 3.

New greenhouse
Meets criteria for sustainability |
* Simpleand35 .......c...cc... .. to build

*  Made mainly from local materials (mud or stor
ORI e sineianaiastis for the roof)

*  Bullding and maintenance done by local craftss
* Runssolelyon3T .................. energy
*  Only families who have & suitable 38 ............0

Design

. lmuraﬂl....._....g......,,-.__”'
Social benefits e
*  Owners’ status is improved

L - MI“l.‘.“".."~“-‘—I‘?—‘W- -'_'_'
*  More children are educated i :




L . You shouki sperd aboul 20 minutes on Questions 1-13, which arm basud on
g Reading Pessage 1 balow.

- The construction of roads
and bridges

Roads

é'\l!hough there were highway links in Mesopotamia from as early as 3500 8¢, the Romans were probably
the first road-builders with fixed engmemnf standards. At the peak of the Roman Empire mpthe r;_.ﬁ}t
: ¥ A, Rome had road connections totalling about 85,000 kilometres.

m were constructed -Wiﬂ')ldeepmnﬂ surface for stability and load-beanng, They had straight

. and therefore were often hilly. The Roman roads remamed the main artenies of European
e, and even today many roads follow the Roman routes, New roads were
, and U e achievements of Roman builders were largely unsurpassed until the
2 in the eighteenth century.

e:ghtccmh-ccnnu} engineers preferred to curve their roads (o ayoid

jarded as merely a face to absorb wear, the load-beanng strength being
and well-dramned foundation. Immediately above this, the Scowish
typically laid crushed stone, to which stone dust mixed with water
i to a thickness of just five centimetres, and then rolled. McAdam’s
i layer of stone chips was laid — became known as ‘tarmacadam’

ere known as flexible pavements.

[y =he start of the ratlway age — men such as John McAdam and Thomas
h totalling some 200,000 km, of which about one sixth
talled turnpikes. In the first half of the nineteenth century, many roads
Fstandards, of which the National Pike from West Virginia to lllinois was

increasing use of motor vehicles threatened to break up roads built to

=

techniques had to be developed.

B pavements were replaced by rigid pavemenis, m which the top layer
Bk, laid on a prepared bed, Nowadays steel bars are laid within the
kage during setting, but also reduces expansion in warm weather
305 without danger of cracking.

9 the concept of high-speed, long-distance roads, with access — or
¢ US Bronx River Parkway of 1925 was followed by several

an American Highway. Such roads — especially the mtercity
 carnageways for cach direction - were the predecessors of

. "- pans of the arched bridge marked the beginning of scienufic
0l bridges had generally been crossings in the form of felled trees or flat stone
‘ioad by compression, arched bridges are very strong. Most were built of stone,

TEST 7, READING MODULE oe
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iron in metal bridge-work. In the milway
melal, the truss beam consists of upper

%E

d by suspenders that drop from one or more overhead cables.

 end to resist the mwuﬂ;a;:::hu:nt;w cables, and mI;stCk is

'dimm moving loads or high win ges are nevertheless light,

most § by 'y long spans. The Clifton Suspension Bridge in the UK, designed

1 Brun "59) to span the Avon Gorge in England, is famous both for

t design. The 1998 Akashi Kaikyo Bridge in Japan has a span of
dm

| dﬁ:m Scotland, exploit the potential of steel construction
" ve a central supporting pier and meet midstream.
b qnnsmeet, is countered by firm anchorage of the spans at their
E: > can span a wider gap, the cantilever is relatively stable,
0 f I mdmy builders. The world’s longest cantilever span —
' in Canada, constructed in 1918.
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Questions 6-13
Complele the table below.
Use ONE WORD ONLY from the passage fof

Type of bridge
Arched bridge
Truss bridge
Suspension bridge
Cantilever bridge * Made of
* More 13 ........
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ons 14-26, which are based on

q - r‘ i".; 5 '_alﬁd mOdem hl.lmalls

el 1y

. ﬂm l.'nm: made nmdcrlho n hun::ans so differemt
without an ability to examme

ave mtlnlnewdsmilar things. However, in 3 scientific
-; ﬁgllnscoﬂugua from the Max Planck Institute
y Anthropology, in Leipzig, have made such a companson
009, at a meeting of the American Association for the
: &hu. they made public an analysis of the genome’ of

hal
FI marn

Mmiv 1o give its name, lived in Europe and parts
0 years ago to 30,000 years ago. Towards the end of this
ge with mwrlopem in the form of Homo sapiens™, who
ﬁ'umAfma. However, the two species did not setile down
N Entmsms which are as yet unknown, the arrival of

m br Paabo and his team had conducted only a superficial
1 .'m the DNA of Neanderthals and modem humans. Since
ey ned a more thorough study and, in doing so, have shed

ing !hght on the intertwined history of the two species. That history
t to be more intertwined than many had previously believed.

and his mllea¥ues compared their Neanderthal genome
ngly reconstructed from three bone samples collected from a cave
tia wﬁh that of five living humans from various parts of Africa and
Pmnws ic analysis, which had only examined DNA passed
er to child in cellular structures called mitochondria, had suggested
ding betweer Neanderthals and modern humans. The new, more
mhun, which looks at DNA in the cell gucleus rather than in
10 shows this conclusion is wrong. By comparing the DNA
lﬂﬂs of Africans (whose ancestors could not have crossbred
eanderthals, since they did not overlap with them) and various

r({ﬂme ancestars could have crossbred with Neanderthals), Dr

-m that Eurasians are between one percent and four percent

mﬂn&itﬂmmatmaﬂ sevzralhundred:housmdyurs
l , the two species were inter-fertilc. It is strange, though, that
: mmnmlbmmmedﬁmﬂ: mﬂm‘
s ey fknwledgeﬁmn at

emales. of sel
M%ﬂlﬁh of Neanderthal in them. But

differences between the species. By
odern | | N ot mmmntlsﬁmhlcm
penetic changes h;chgm;mmdhyuwmlspecmo uman in
amﬁnmlhegtul-upe lineage, from those which are unique

-

il
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More than 90 percent of the ‘human accelerate
identified in modern people are found in Neande
are not. Dr Paabo has identified 212 parls 0.
undergone significant evolution since the specie
science is still quite primitive, and it is often |
DNA is actually doing. But an n of t
that have evolved in this way shows that they
are associated with cognitive ability, and whose mai
mental lerns. These genes therefore looK HKES
search for modern humanity’s essence.

The newly evolved regions of DNA also include a gene e
controls bone growth. That may account for difference:
skull and the rib cage between the two species. By e

the study had already shown that Neanderthals anc
version of a gene called FOXP2, which is involved
which differs in chimpanzees. It is all, then, very p
coup in quick succession for Dr Paabo. Another

existence of a hitherto unsuspected n}mdu of

DNA found in a little-finger bone. If that spe

%::tgmc read, humanity’s ability to know itself
i ¥

an individual s complete set of genes
the saientific pame for modern humans
parts of the human brain which evolved very mpidly
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I F
Questions 14-18

Look at the following characteristics (Questions 14-18) and the list of

mmmmmwmm A BorC.
~ White the correct letter, A, B or C.

NB You may use any letter more than once.
ived in Europe and Asia.

Wl e r e

gEsurvive long after the arrival of immigrants.
.|:{ elbpi=i Smcias.

Btto have passed on mitochondrial DNA to another species

lemo neanderthalensis and Homo sapiens
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Questions 19-23

Reading Passage 2 has seven paragraphs, A-G
Which paragraph contains the following information?.
Wiite the correct letter, A-G.

19 an account of the rejection of a theory
20 reference lo an unexplained link between two even

21 the identification of a skill-related gene common 1o bot
modem humans

22 the announcement of a scientific breakthrough
23 an inleresting gap in existing knowledge

Questions 24-26
Complete the summary below.

Choose NO MORE THAN THREE WORDS from the p

The nature of modern hu

Recent work in the field of evolutionary anthropolog:

o compare modern humans with other re ated species
resulted in several new findings. First, despite thy L
Homo sapiens and Homo neanderthalensis ﬂ;; o~

------------------

hmmmh&ummwbmmlymofgz‘
Inthed:muyofanewhmm

------------
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The Future of fish

: ocean has changed completely since the first commercial fishers cast their nets and

ve | years xrm intensified over the centurics, but even by the nineteenth
Gentury 1t was still ﬁ!ll.jmf' y. that the pleatiful resources of the sea were for the most part beyond
the reach of fishing, and so was lﬂﬂqnmd to restrict fishing or create protected areas. The twenticth

Century heralded an escalation in fishing intensity that is unprecedented in the history of the oceans, and
modern fishing technologies leave fish no place to hide. Today, the only refuges from fishing are those

. create. Unhappily, the sea trails far behind the land in terms of the ares and the quality
of protection given. |

ishing and commerce have expanded, we have held onto the notion that the sea i
3 . We still view it as a place where people and nations should be free to came and

swhere that should be free for us to exploit. Perhaps this is why we have been so
i land, protected areas have proliferated as human populations have grown
¥e have made greater headway in our struggle to maintam the richness and
pe. Twelve percent of the world's land is now contained in protected areas.
ire for the sea is but three-fifths of one percent. Worse still, most marine
ling to continue. Areas off-limuts 1o all exploitation cover something like
area of the world’s seas,

Bg to realise that ‘natural refuges’ from fishing have played a critical role
§ mamntaining healthy and diverse marine ecosystems. This does not mean

ald fisheries on their own — other management measures are also required
Jare off-limits to fishing constitute the last and most important part of our
BS management. They underpin and enhance all our other efforts. There are

back what has died out. We can never resurrect globally extinct species, and
t animz '___m_ay require reintroductions from elsewhere, if natural dispersgl from
isufficient. We are also seeing, in cases such as northern cod in Canada,
e ecosystems into different states, where different mixes of species prevail.
§ are less desirable, since the prime fishing targets have gone or are much
nanges may be difficult to reverse, even with a complete moratorium on
sailed by Ulysses, the legendary king of ancient Greece, supported abundnn}
5 and porpoises. Their disappearance through hunting and o\.crﬁshmg_ has
A Webs, and recovery is likely to be much harder to achieve than their destruction
SS0Oner we act to protect marine life, the more certain will be our success

aarine reserves is an admission of failure. According to their logic, reserves

#f'we have done our work properly in managing the uses we make of thf.:sea.
IS are still wedded to the idea that one day their models will work, and politicians
_ glve the approach time, and success will be theirs. How mtfch. nnzc ha\g
een tried and refined for the last 50 years. There have been few successes
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anagers’ caps, but a growing failure. The Common Fisheries Policy,
r&m %ﬁu aquaculture, exemplifics the
5 mdnk.namdadvi mmd-dmmnmmendaumsﬁmngovcrmnem
X th&’m#mmmw politicians. When it all went wrong, as it
1A mme&mmaMcounmmmdm {o obtain fish for far less than they

z the wealth of oceans. If we don't break out of this cycle of failure, humanity will

and much more besides. Disrupting natural ecosystem processes, such as
nt cycling, and carbon storage, could have ramifications for human life itseif.

| g this catastrophic mistake with simple common sense management.

of the reform. But they will not be sufficient if they are implemented only

uj imehlmg edifice of the ‘rational fisheries management’ envisioned by

d 1950s. They have to be placed centre stage as a fundamental underpinning for
“Reserves are a first resort, not a final resort when all else fails.
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Wﬂﬁ‘adlctn ﬂw claims of the writer
Mmme 1o say what the writer thinks about this

R years since people started to catch fish for

Rt

i OPEeN access to the oceans is still regarded as desirable.
g IS now completely banned in the majority of protected areas.
DUld be encouraged to reduce the amount of fish they eat.

_'M on of certain mammals to the Mediterranean is a

Of __I  letter, A, B, C or D.

he W mean with the question, “How much time have we got?'
ac ph?

ies policies are currently based on uncertain estimates.
e predictions will allow governments to plan properly.

- managers should provide clearer information.

0 ‘ tect fish stocks is urgently needed.
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Thr- . —

) s Pey

33 What is the writer's comment on the Comman FISTER __;-"
A Measures that itmwm_m T ' nes :
B Officials exaggerated some of its 2COMMEr s,
C It was based an predictions which were inaccurate.
D The policy makers acquired a good raputam
34 What is the writer's conclusion concerning the decline of
A The means of avoiding the worst outcomes ds 1t
B Measures already laken to avoid a crisis are probab
C The situation is now so severe that there i no likely

D Itis no longer clear which measures would be most:

Questions 35-40
Complete the summary using the fist of words/phrases, A—J, bek

Measures to protect the oceans
Up till the twentieth century the world’s supply of fish was
for its needs. It was unnecessary tohhvdmeﬂr....‘
kind, because large areas of the oceans were inz
a536............... improved, missihmﬁondwm
middle of the twentieth century, policies were introducee
- (g

Thesepdneshavennlaum Today, b
<! O ﬂuomnshavawmhml

Despite the doubts that many officials hmnbeulh

39 .,
muemouubammm
T'“'unenmonumeuo o sty




) ﬁ_ :-. age of time spent on some Percentage of time spent on some
nternet activities (18-26 age group) internet activities (60-70 age group)

ror

bu should spend about 40 minutes on this task.

oL

Son mo feel that the legal age at which people can marry should

w ; ; mao you agree or disagree?

asons for your answer and include any relevant examples from your own

least 250 words.
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speaking modul

TESY

e (11-14 minutes)

Answer these questions.

lwo minutes to talk about it.

Tell me about your country. -
Which part of the country are you it
Hasyo;ﬂmﬂ?’mmi pzthyMﬂ"
Do you ke living i your country? i
Is your country changing & lot?

"|‘_ .

Describe an occasion when you met someone you had
years.
You should say:
how and when you met the person
who the person was
how long it was since you had last seen him/her

Consider these questions and then answer them.

7. SPEAKING MODULE

and explain how you felt about mesting this person again.

Did you recognise him/her straight away?
Had he/she changed a lot?
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ENERAL TRAINING TEST

—a ]

- Reading module (1 hour)

g —
- na | | 1

The first section of the test consists of two texts about some aspect of everyday life
Topics are varied and migbt include accommodation, travel. leisure, entertainment or
driving. Each of the texts is approximately 300-350 words in total

The second section contains two texts about some aspect of waork or training. Again, :
ﬁglt_qpksa_m varied, and could include careers, jobs, qualifications. health and safety,
| salary and benefits Each of the texts is between 350 and 400 words in length.

 The third section has anly one text of about 850-900 words, and i abou any subject
| ©f general interest. Topics might include geography, history, science, nature or sport.
| But the texts will be generally accessible to readers of any background.

nl
The General Training Reading paper uses a variety of task types, including
|+ Giving short answers to guestions,
* Deciding whether statement¥opinions correspond to what is written in a
reading passage. ' | _
- hing statements to people or events which are mentioned in a reading passage
= Completing a summary, or individual sentences based on a reading passage.
‘Completing a table, a diagram, a flow chart, or notes based on 3 reading passage
| = Choosing a statement about a reading passage from several options
o ng the answer to a question about a reading passage from severzl options.
| g the best heading for each of the paragraphs in a reading passage.
' task will have to write words or phrases, and in other tasks you will

e letters or numbers.

—

-an use the same preparation tips and strategies for the General Reading test as
‘fm’* the Academic Reading test. See page 39 for mare information.

N o~
| You
:
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CREATIVE TOYS
A
Bath time animals
Five foam mix-and-maltch animal

jigsaws. Pieces stick easily 10
damp tiles and ceramic surfaces.
A great product for keeping
young children entertained in

| lhe bath. Assembled animals

| approximataly 16 cm.

Chimalong

| An excelient choice, even for Tl'lb
| the very young. This small
| xylophona has eight chimes, and who want
| truction !up?;ya i b
| Ins s ing twelve includes:; i
| famdiar tunes. The chimes and saw, mallel
| making it easy for children to pliars — ew
learn how to play the tunes tackle simp
years Neg
( E
! A unique playhouse providing great creative T
+ {:ﬂ:hmm ' :lmuo o
y for young children_ It is - her a name
wnmm m%& ol
nu“ 00 percent recyclabiel which is included! No
easy 10 assembile, and can needies . prsa. o
be folded fiat or used as extra m“m
siorage when not in use. Pink. - e it
r&mﬂ”“m- birth certificate and
h”'ﬂ.’]‘ e mmm
28
NB: This lem is not svailable foy. | | O 0ren under
overseas delivery or cur gift-
WIBDDInG service.

154




Questions 1-7

-np tri Lodcn!maalmrﬂsemmsfar!oys.”onpaga 154
e il o, Forwhich toy are the folowing statements trus?
© nents
e
in m‘m ""“I. "Wm. Write the comrect letter, A<F, in boxes 1-7 on your answer sheel.

af the letters for your NB: You may use any letter more than once.
| mwmmmzm 1 There is a range of colours to chaose from.
* For each statement, find 2 The size of this can be adjusted to suit the child.
words ar phrase ~ 3 This cannot be sent lo addresses in other countries.
.-Til'- Children can use this to make things out of wood.
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Tip strip
Questions 8-14

s The siatements are in
the same order as the
imbormanon in the letter

* Some of the words in
the statements might be
the same OF sirmelar 16
wowds in the kelter Thes
doesy T mean that the
statement must be true

* Read the whoks
staterment carefully before
you decide whether it
matches infarmatien
the letter or not

* For your answer, write T
or For NG Don't write
compleles words

Question 8

To find where the answer

I8, look for a word which

has & simala mesning to

managed’ Then resd the
sentence carefully

Question 10

To fnd where the answer

1, look for the place where

prices and braakfast are

mennoned. Then read the
sentence carefylly

Question 12

Find a word which » relageg

it meanng 10 ‘amval’. Then

check what the leTies says
about the "earfiest’ time

Guests G arwe

- GENERAL TRAINING TEST. READING MoDuyLg

Dear Mr and Mrs Burton,

Thank you for booking your stay with us af
Scotland s best-known and oldest family-ron i
We are delighted to confirm your reservati
Unfortunately, the double room you requested §
single or twin rooms to offer during that _
for you, but please let us know 1f you would pr

The rate will be £55.00 per person per night, s
breakfast and tax. We are currently offering & spee
£25 per person ~ please contact us as soon as Pos:
your stay and take up this offer,

Check-in is from 2p.m. and check-out is 11 am
departure. If for any reason you require a different tin
in advance and we'll do our best to help you.

The Loch Cullen Hotel has a choice of two distinctly dif
Choose either the Lounge Bar where you'll fini
or the Loch Restaurant for more formal dininy
We can offer you a range of locally-sourced
haggis or Scottish smoked salmon. Througho
fresh Scortish produce.

On departure, guests can settle their bill in cas
credit card. Thank you for guaranteeing your by
which will only be used in the event of a late
24 hours before the day of arrival no fee will be
the case that a guest doesn’t arrive, then the firs

‘ If you have any questions about your reservat
hesitate to contact us. We look forward to welcomin

Yours sincerely,

MET I

Sarah Peterson (Manager)

Questions 8-14

)
Do the following statements agree with the information given in the fext above?
Write L. -
TRUE il the statement agrees with the

FALSE i the statement confradicts '
NOT GIVEN if there is no information on :'!:?sm
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You sh
OUld spend about 20 minutes on Questions 15-27.

Minnesota Departn
of Natural Resources

Volu lll&rhlg program

Volunteers work with DNR man
professionals and technicians to Ip
manage fthe state’s diverse natural
resources. Volunteer positions range
from jobs requirng no previous
experience 1o specialist positions
requinng  extensive  skill  and
experience. Volunteers provide work
which supplements DN%. personnel.
Volunteers help o preserve and
enhance Minnesota's natural beauty
for the enjoyment of peaple of all
ages, mterests and abilities

Follow these steps to sign up as a
volunteer for DNR:

Volumteer opportunities are available
throughout the state at State Parks,
Stuate Forest Campgrounds, Wildlife
Management Areas, fisheries and
halchencs, the 150+ DNR area offices,
four regionsl hea rter offices, the
St. Paul Central O candatspecinl
event sites. Check our website to learn
about volunteer positions available in
your ared.

Contact tb!: DNR officer who ®

amgmted the project you are
interested in. (If you live in Greater

use our toll free

may
m gss 646-6367 Hearing

m:y call (651) h!\'c.uwg{lu::"
“219’25484 The DNR officer will and try to offer
uﬁmm if the position is still open M‘?mmmrmlnm
il register you J

r =

Arrive on time (¢
work on the project
registered 10 work
a ree o s 3 _
If you will be absent ar
carly. The DNRJ}

‘w—ﬁ" -

be a dependable voluntee
While

a-:e_omﬁ ﬁrllw o

. the '
fas m'tbum
be knowle . |
concerning th .' ﬂ'-'f',

wllhﬁlhc o
position, all ques
mil!@d o ':-15-"
procedures are to:d
Information Line o
6367 Avoid exp
upinion.

N0 FZ', .

*  Keep 2 note of #
important for

for ttlyomn,g ;
thn the ]::ljswt is fi d

who, will m‘“ﬁ' W
programme manager. |

*  Your supervisor will be happy to
discuss any mlhumw
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Tip strip

Questions 15-21

» The informabon in the
flow chan follows the
order of information in
the text

* Don’l wite more than

one word In gach space.

* Don't change any
words, Write your
answers exactly as thay
appear In the text,

= When you write your
answers, check that
the grammar of the
sentencas is correct. If it
sn't, you've chosen the
wrong words.

Question 16

Find a word in the text
thal means "gel in touch
with', then look for the
SITWET,

Question 17 -~

The flow chart has ‘your”
wn front of the space, so
the answer is @ noun
Question 21

Ta find whers the answer
15, find the place where
“Supervisor s mentionsd,
then read carefully
“Worries' has a similar
meaning 1o ‘concems’
This & the first thing to
tall your supenitor about
Now look for the sscand
thing

Questions 15-27
Questions 15-21

Complete the flow chart below.

Choosa ONE WORD ONLY from the lext for each

Volunteering for th

Find out about local vacancies from the DN

\

Gel in touch with the named DNR 16 ...

¥

Register for the post. |

¥

Tum up punctually for work (call if you need to ¢ :

i

Refer questions
about the DNR from
0O IBs  n
to your superwsor
(do not give your own

PR NS ).

v

Give a record of yow
20

-----------------

your wpewisor AR E
I " 4

GENERAL TRAIMING TECT BEamicem o

!' |_|.
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e Ing jobs is pg , at
Promp ng many longer quite as easy as it was just a couple of years ago,

lﬂ 4 : T - . ’ 3
?koagﬁvaw lfulr Careers within existing companies
The following g

4] : :
More m”““.‘g tgsbm help you take control of your carcer and make yourself

Your current and any future employer:
Keep up with industry developments

Ensuring you are up-to-date with the latest trends

; in your industry through
&?ﬁdmg conferences can make you an invaluable employee, and chanﬁe
_“ Ay i {

Years, online networking, using corporate sites such as Linked/n.
_ 2iven employees the ability to liaise with people doing similar
88 a great way of keeping up-to-date with what people in similar jobs

austries are thinking about, and plenty of people are willing to help if
d¥e @ problem or wanl some advice.

eon Benjamin, author of the book Winning By Sharing. warns that
veness of such sites in advancing your career varies considerably,
2 on your industry sector ‘For people who're working in digital

s evcriylb verything, but in the building trade it’s almost pointless because
low level of take up,’ he says. -

rng ljl!li have access to training to improve your skills 1s essential to

g both your career and earning potential. By getting the right
duals can sometimes get salary increases, as well as making
elves more likely to gain promotion.

it type of training, though, is vital. Apart from on-the-

ng, there are self-help books that can be found in book shops or

as well as formal courses. Individuals should decide what their

areas of weakness are, and then talk about them with their Staff
gnt coordinator to find out what kind of training might be best.

-
”,_.a' ner ce
F L

parts of the business through temporary roles or

| can give you a more rounded view of the organisation
‘you won't be pigeon-holed in one particular area.

- OIr
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Tip strip

Questions 22-27

» Notes maght ot
follow tha arder of the
text exactly, but the
headings will help you
to find the ng"t phﬂ's
in the text

* Wiite aither one wond
of two wards for your
answers. Don't wnte
more than s

* Your answers
should it the space=
grammatically as well as
™ meaning

= Don't change ary
words. Wiite yousr
ANSWRTS Badctly as they
sppear in the text,

Question 22

Thaa i3 the second part ol

a kst of nwo things Find

what the sacond thing

& by looking for “ako” in

he text, then read ng the

watance caretully

Question 24

To fird the place where
the answer 15 ook for

ne part o the tent

about trarang

The answer & one of thres
types of trareng. Find
wherr the lext menticns
the other two types,

ang then iook for e
hed tvoe

Question 27

e notes have “thar n
front of the space ang
¢ afier the space, 30
e 2nseee 5 2 plural
Roen phigse

GEMERAL TRAINING TEST

departments you De ‘
ukngcrsnnd that if you take an act
over there.”

«  Work with your manager

One of the key skills is dealing with yo an
what wurng?!m o{;f being jwdgn:r wm; {1 ha
execulive cr mMOre sen

can help them to detiver those while still he

Questions 22-27

Look at the lop tips in the passage above.
Compiete the notes below.

Choose NO MORE THAN TWO WORDS from the text for &
Keep up with developments by:

» going lo conferences

Ask for training

* could result in a salary increase

Get more experience by:

* Coing lemparary work in other departments

o

Work with the manager
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You . : :
Should spend about 20 minutes on Questions 28-40 which are based on

Reading Passage 3 belon,

The Spotted Flycatcher

A

Despite s rather dul) plumage and less than
Impressive vocal repertoire, the Spotted Flycatcher
has always attracted a greal deal of public attention
in Britain. However, the bird is resident here for
only a small part of the year. Although one of the
last summer visitors 10 arrive, il begins to move
south in fate July, heading through western France
and ITberia from August 1o October. and reaching
North Africa in September. Recoveries of birds
that have been ringed suggest that many winter
n coastal West Africa, but others continue south
0 cross the Equator. Just how far south the birds
winter Is unclear; one juvenile ringed in Wales
during August (which could have been on passage
from a breeding area outside Britain) was recovered
m South Africa the following March

B

lu the eighteenth century, Gilbert White, one of the
first English naturalists to make careful observations
of his surroundings and recomd these in a systematic
way. commented that the annual return of *his’ Spotted
Flycatchers occurred almost exactly to the day. An
examination of his journals confirms this consistency
m arrival dates, with a concentration of sightings
ground 20 May each year. Records logged through
a British Trust for Omithology (BTO)-led project
show that the pattern of arrival sull delivers the bulk
of Spotted Flycatchers to Botain in the second half
of May, though average arnval dates may now be
slightly earlier than they were during White’s time.

C

Most Spotied Flycalcher pests are built against a
vertical su :
positioned on a beam, and very occasionally, the
species will make use of a hole. Although both sexes
get mvolved in building the nest, it i1s the female
most of the work. Iy
ﬁm sli buslt and containing moss,
" and cobwebs. The female will deposit four
wool, Bl ety six. into this before she nitiates

incubation ~ @ job that she X

rﬁ“'mhasa“all.bulwnwma)’&'

|
appear, typically as if from nowhere, o watch thlj
nest, very occasionally even settling on the eggs.

D

Once the eggs hatch, the female will continue o
brood them until they are seven to ten days old; the
young are blind and naked through to day five. Botly
sexes will then provide food for the growing
somefimes bringing them through to successiul
fledging, and avoiding the unwelcome attentions of
nest predators like cats. Newly fledged young afe
fairly conspicuous; noisily, they continue to for
food from their parents for at least another 10-12
days. The pair may then initiate another breeding

attempt, sometimes in the same nest. There are
records of young from the first brood attending and
feeding young from the second brood a behaviour |
that also occurs in a number of other bird species.

E

Over the main period of egg production females
take more calcium-rich prey (like small snails 2
woodlice). If a second batch of eggs is laid the
number of eggs 1s reduced to three or four, probably
reflecting a reduction in the availability of insect
prey later in the season. Research has shown that |
on cold days (or in the cool of early morning) the
Spotted Flycatcher switches from taking larger,
aerial insect prey to gleaning smaller prey from
amongst foliage. These smaller prey are likely' Bﬁ
be less nutritious, and a run of cooler days late in
the breeding season may reduce the chnuecs.of |
birds successfully rearing a second brood.  « i
F

The Spotted Flycarcher lacks the more bri
marked plumage of many other birds, and thcﬂ
of easily recognisable features means it can be

mistaken for another, lly drab , SUL
the Dunnock, or even the !I’cymale mmm“
Fortunately, the Spotted Flycatcher can also be

identified from its behaviour Spotted Flycatchers
are seldom seen on the ually

from a perch, making sally
The fiycatcher o &
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insect from the air.

G

Flycatchers together unless they haé;pen to be a
fnnyncily of two adults feeding newly-fiedged young
(the latter looking very different from their parents
because of their strongly patterned plumage). One
other feature is the audible .
bill sometimes makes when the bird snatches an

Data from the BTO show an 86 percent downturn in
the breeding population of Spotted Flycatchers over

ing sound that the

Tip strip
Questions 28-34

* The headings are not in
the same order as the
information in the text

* You can only use each
heading onge.

* Read all the headings
quickly before you read
the text.

* If you have chosen cne
of the headings fora
paragraph near the
beginning, and then
find that 1t fits a later
paragraph better, check
your answers

* Don't choose a heading
just because it conttaing
wonds from the tex. A
heading should be about
the whode paragraph

Question 29

Paragraph B mentions

‘Sghlings’, so read this

Paragraph quackly to ses

if “regularity’ is one of the

main themes
Question 32

Only three of the
paragraphs mention food
ot feeding (C. D and §).
One of thess describes
what the birds eat in
sams detail Read this
paragraph and check that
1t mentions different times
of the year
Question 34

Look for a
mnm.wwof
‘dedine’ of fall There is
only one.

Check whether this
pegn s
changing) the dedine.

GENERAL TRAINING TEST, READING MDDULE

Questions 28-40
Questions 28-34

The text above has SEVEN paragraphs, A-G.
Choose the correct heading, i-ix, from the list o

Wiite the correct number, i-ix. B

List of Heading
i A breeding partnership
li  Danger from predators
il Geographic range
v Seasonal changes in diet
v The regularity of first sightings
vi  Alack of accurate data
vii Reversing the decline
viii Rearing the young
ix Physical features

28 Paragraph A
29 Paragraph B

.................

30 Paragraph C
31 Paragraph D
32 Paragraph E
33 Paragraph F x
34 Paragraph G

..................

.................

..................
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Tip strip

Question 35

Loak for a word in the
with & similar nescr . 29
‘feathers’, meaning 1o
The word befure the

is ‘qui‘le'tso the 8"1.\::’;&
an adjective or an adverb,
Question 37

A comes before the
space, sothe answer i< a
singular noun phrase

Tip strip

Questions 39-40

« The guestions lollow
the arder of information
in the ext.

= The four optons may
not Tollew the arder of
informatian in the text.

= After you've chosen
an answer, check thal
the other oplons are
wrang

« It's better 1o guess than
to leave & question
unanswered

Question 40
infarmaton aboul the
tirds” rvests 15 cantained

you have 1o reed both
these paragraphs

Completa the sUmmary below,

€092 NO MORE THAN TWo WORDS i

e ———

The Spotted Flycatcher can be hard to identify. @8
unremarkable, and its feathers are quil_e;_'_:' ) ;.-
distinguished by its behaviour. o

The Spotted Flycatcher usually waits for its prey on

Questions 39 to 40.
Choose the correct letter, A, B, Cor D.

39 What does the writer say about the seasonal movements
Fiycatchers?
A They can be found in Britain throughout most of the ye

B Their time of arrival in Britain has changed consid
eighteenth century.

C Ringing them has only provided evidence of their routes within Etirog
D Some of them migrate between the northern and southem h )
40 The nesis of Spotted Flycatchers

A have to be sturdily built.

may be used for more than one broad.
are normally constructed by the male.
must hold up to len eggs at a time,

oO0Ow
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Writing module (1 hour)

Guidance

The General Training Writing test [asts for an ho
first part is shorter than the second, and & i
should spend about 20 minutes on this part &
For each part you should allow enough time 10
before you begin writing, and 10 check what )

Task 1

In the first part, you have to write a letter with a minir
in response to a situation which is described in the task.
related to social life, or it might be related to work | 1
friend or a letter to an official or a work colleague.
You are provided with a list of three things which yourk
You have 1o write in an appropriate style according to &

Task 2
In the secand part you have to write an essay wlﬂi
This involves giving your own apinion about a situatio
is described in the task. Topics are varied, and igl ?
environment, or education, but you do not have to (
be able to do the task.

I - 'S

[ | |
"

The testing focus for the General Training Writing test is &

Academic Writing test. See page 52 for more inform: :

J!I

As you cannot predict what the topics of the General Training
you shtj:uld read about different topics using a wide VI;T:W of .
magazines, newspapers, letters, leaflets, advertisements and websites.
At the same time, you should practise writing both D & ime lim

- GENERAL TRAINING TEST, WRITING MODY, ¢
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Tip strip

« Aead the fire Twig
Sentences carefully, ac
they explain the reasan

towr \'\-‘llrlﬂg & letier :

s important to renfise

the fallowing:

YouTre writing 1o 5

reh ""’B:i‘ your tone
must be informal
relzoed and

+ The ‘fne-_",[j (& Enqhih
. '_;"'_m;e .amEf-h:lng
which you might
reasonably ask a friend
to help you 10 buy
¢ YO must cover al three
bullet paints in yous
ietter you vall lose marks
it Yo miss an‘r- A_-" thﬁﬂ
it often helps to magune
a real pecson when you
are writing the letter
* Am 1o use a wide
range of vOCADWaTY
AN OIra3MIMar
* Divide your letter into
Suitabile paragraphs
= Don't wiite 100 much or

w2 an address - you

Tip strip
* Read the statement
carefully
s The second line of the
1ask in Tosk 2 differs
Ir O 1‘3:€f o pdp{i'
« Make note=s belore you
starl 1o Wwrile
fou coulg Qe your
point of view and then
provida iligstrations
sadence. Or you o
sxplore one SIue of the
guestion and then 9""{'
SR CpIon and e.&;ﬁo.;ﬁ
-'I“.E ﬁf.;]u!'ﬂef':t] you fird
partoularly persuasve
o Aumtoused woe l..‘l.'ll;'e
of vocatwiary which
SRS :‘-Dl:f W3e3s
nrecisely and ej,pfﬁ‘;*\'ﬁ"f
Create 2 .ucczﬂf-!'f_r
i’.'-.‘!'r}’.;rﬂﬂh for eacd
et Nl .
Arsecer the task Quess
ir o5 all |"||]h! o mftt\f
agree of dragree

3

£e0H)

You shouid
[ Vs Fend about 20 minutes on this task.

You want
Someth
decide to ask an ing that you can't buy in your own

English friend to help you,
Write a letter 1o the friend. In your letter
' say what You want,
¥ explain why you want it,

Suggest how the friend could help.

—

Write at least 150 words.
You do not need to write any addresses.

Begin your letter as foliows:
Dear

Sessdsansy ssssavan g

You should spand about 48 minutes on this task,

Wirite about the following topic:

Some people think that there are now too many cars on the re
that they are spoiling our towns and cities.

| Do you agree or disagree?

| e —————

Give reasons for your answer, and include any relevant examples fi ol oo
knowledge or experence your own

Wiite at least 250 words.

GENERA)

ST. WRIFING MODULE oo

TRAINING T1
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tc-";i e

D EAKINGERILE: .

in the first part of the speaking test. mj :{x:?:ﬂ_ i
yourself and about things you are farmin

im
&
-4'\ Waltch the
~ full test on
your DVD

« Lsten very carefully to the question so that your
« If you don’t understand the question, ask the exa
examiner which word you don't understand,

+ The question word tells you what kind of info

example, if the examiner asks a question beginming
a reason or reasons. _
« Take care when you hear 'like’ in 3 question: ‘Do youl
different meaning to "What is X like?", :
* Reply to the examiner’s questions as fully as you &
You can make your reply full in various ways, ﬂ.u:h
« Iif you make a mistake while you are speaking, de
carrect yourseif, or just continue speaking.
* Remember that the examiner will only as5ess your sy
of your replies: there are no ‘right’ or ‘wrong’

=

Useful language

Communication strategies

«  Pardon/Sorry?
« Could you say that again please?

+  Would you mind repeating the question?
«  Whal doas X mean?

Giving personal information
+ Myname's X.
« Pecple call me X,
= |come from X bt | live in Y now

Talking about everyday life and habits

« | usuat!yfgeneraﬂyfsmmnmes/oﬁan

- EVBW mﬂi‘?”ﬂ@dﬂjﬂuﬂﬂk a
« On Monda ys/Tuesdays

« Al the weekend, .

SPEAKING FILE
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|- —.L,’

In part
:},ﬂ given & c;f; 965: the examiner gives you a familiar toj

Make notes pe mprggmb;g,r’:’wde in your talk, and y

| * Read the card carefully, 5o that your talk is relevant to the top
| * Deade exactly what you will talk about (which PErson, phﬂ;' i
| * Make a few notes about each separate point on the card
to incude)
* Use the card and your notes as a plan
* Begin talking when the examiner tells you to, and don't
' you will ke toif.l when to stop talking
* Make sure you use the correct tense,
* When you are moving from one idea 1o another, make the thl
examiner by using linking words or phrases such as, Alsg S
I knowis ...*
* If you make a mistake while you are speaking. don't Womya
correct yourselt, or just continue talking

Useful language

Linking ideas and information
- The placel/persan/occasion/activity I'm going 1o aik aboq"ﬁ'
« First of all
« Secondly ..INext
« Anather thing | should mentien is
« Regarding the X

Giving reasons
. .. because/soiso thal ..
. The main reason thai

Expressing likes and dislikes
. The thing | particulany like
. lenjoyedtt

It made me fedl happy

| was reaily pleased

) dliini't really Bike it

SPEAVING FiLE
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la Pari 3 of the les! the sxarmi v roph
of your talk in Part 2, and then diSCUss you

be more general and less perso

ner will ask JN‘"' e
nal than the qu

.
.
Listen very carefully to the question so that your rej
If you don’t understand the question, ask the exam
examiner which word you don’t understand.
Reply to the examiner's questions as fully as you ¢a
in various ways, such as giving reasons for what yoi
If you make a mistake while you are speaking, don
correct yourself, or just continue speaking.
Don’t focus tao much on accuracy while you are talkis
Remember that the examiner will only assess yours

Expressing an opinion

Comparing

Qualifying statements

SPEAKING FILE

Of yOur feplles: ‘he[e are no "-'ght! or -w v iy

Useful languag

«  I'm not sure, but ...

* [agree/don’t really agree with that
= | think people generally ...

* ['think one of the main reasons for thisis ...
« Inmy opinion it's betier to __

* I'm not sure how important _ :

* Personally I'm against/in favour of ..

» Xis beﬂedb:ggeﬂeasieﬂmore

« CompareditoX .. Fommeontless frequent than ¥:
* More peopie... than .

* By contrast with X ..

» To a certain extent
* People lend to __

* Ingeneral .

* Dn the whole _

« Rt mightmay/could pe

* In certain circumst - that .,

’ ; ances
. It's posslbfaﬂlkﬂyfumikﬂfy that
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ACADEMIC WRITING

WRITING TASK 1
Sample question
%ﬁm Taick 1. 0n piage 29

he table shows The resuts of thrse surveys, condusted
FAC years, idcating chanaes In studente’
MMMGFWJL ote

d pnnersity.

il d!l'ﬂ wmmmmw

it should be task-Tocused

free of irrglevant information

and comment, and of the

appropriate length

it should be ocrgamsed In

3 logical sequence, with

appropnate paragraph dwsionse,

and should use linking words

and phrases to show the reader

what the connection betwesn

ihe different parts s

The vocabulary should be

accurate and appropnate

* Grammatical range A variety of structures should
and accuracy be used as appropriate

* Task achievement

+ Coherence and
cohesion

* Lexical resource

Exam help

» Look very carefully at the tagk input, mcluding tha
instructions, the main mtle, the Bbel on the bwo gxes
{graphs-and bar charts), the column headings (tables),
the segment labels (pie charts), the key, eic. Make sure
that you understand the information you have besn
gwen before you begin writing,

* Deade what the main pattems are in the information
For example, what 15 the shape of the fine in a line
graph, and what does this show? Or, where there are
two pie charts, how does the structure of one compare
with the structure of the other?

¢ Make a brief plan. Decde how you will argansse the
infarmation you are going to report, Starn with the
overall patterns and go on (o SuppOrt your statemeants
with specific details from the wisual

* \Write your answer according to your plan

¢ Check the length of your answer.

* Read your answer through and make any changes
which you think will improve 1t

* Correct the grammar, spelling and punctuahon

a5 necessary,
Useful language .
the propartion of X; the percentage of X; more than half
of X less than a third of X, 3 quarter
most of the X; some of the X; a bigger number of X ..
than of ¥
rose; fell; increased sharply; gradually decreased,
fluctuated, remamed the same; went up,
went down, remaned stable
over the whole penod, duiing the Irs','ear by the end of
the period
shows that, indicates that. suggests that
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Academic Writing Task 2
Sample question
See Test 1, Task 2 on page

Sample answer

It t5 & fact that, for 8 varfety of reasons, peapin Iive h

hireggme The queslion i8: should Dhis ke
A resson for rajsing the ge= at wh ICh peny de retire?

¥ tfr-hh'\ used to

(e auivantage of increasing the age At which people
stop work is that it Wil heip the state by generating
more mongy. Mopie 1 work pay the peraians of those

n retirement, 8o the longer people stay in work, the
lesa Lhe resc of the populstion will have 1o pay towards
PENSICH S

i

Another advantages of having a later retiremant sge
& that ar cocupation tends To kecp peapie fulfilled

4 evers healthier, and 5 It s bensficial to kasp them
“he normal retirement 2ae s
The past, whan people diad yaunger,
Forwand to only a few years more |ife,
have 30 or 40 years of lelsum
longer cantnbute

an

” y el ] - - - ol '
n-"'l""‘,_:! Lger o ..".:'[-_'\.

about 55 or €0.

hey coltd look
NOWSAT VS, TMey MEY
ahesd of Lhem, reoling Chal They no

arylihuy valuabie o sociely.
J

However. for ma the disadvantages of postponing
taeith the advantages. First ratly, althoeah
older people phvicusly bring to their profession a

=z, They dragdually become less

ing ¢ addpt Lo changes \

Lt st aan

Sreat desi of experien

EMLNUSSSTIC ana ices

ble and should not have

ng peopls arc more adapta

il their penkxe =

Ve T0 420 & job Sacondhy,

want to spend 2o much of

1o wail ur

e PEOpte fumiply Son §

tHar llvea gorrl ng — H"!'-, want to ‘oPﬂ‘ﬂd Time with thair |

]
“hildren, Or L0 se That Time for things
rg before they grow too old to enjay It |

| therefors feel the retirerment 2qe should be mised ooy

dretn o arand:

Rz travel

| =lahthy 5t &l ]
e —— - ___--'-_'““—s__,____,__..-a——-.._

ke —

The answer would get a high IELTS band because:

/ There s a dear, direct and onginal opening response to

the task

The pasition is strong and consistent

Main paints are clear and well-supporned

Paragsaphing s clear with central topics clearly

signposted

7 Both sides of the debate are presented suconctly
(although the task cails for the writer's cpinion only,
it s aften helpful 1o explore the other side as well)

X The concluding line and point & 2 little minimal

/ Vocabulary - a good mix of straightforward language
and sophisticated sentence construchon

NN
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J  Awiders
7/ The majo
s Punct

Marking
These are: -
the requirame:
extensivie.
Your answer 56
lﬂ'wm. " v
At the sa
compleaty of
an account of
should expand §
examples, and f
d'ea‘ anciusii
position in
As the conte
complex than 1
that you plan &
suitable pa 1q
connections b
made clear by
as adverbials, relat

Exam help
«  Carefully
which t
to thase
sure that y
*  Note dow
- Mak&a - "1.':.
then deci

. Wntepnr
+  Check the le

* Read youra
whachm il

. COEIECI u‘le 9"3 ’
necessary
Useful language

a lot of people; some peg _
ori the one hand .. on the other Kane
nevertheless although

firstly; semnd!y finally; thm
moreover, in additron,

one fhtng fw ano'm thw‘. g"

# appears that; it i apparent thats .
suggests that; people tend to; it ‘h

rhéf in Q!‘fw Qen!rahy U l
' de, 1n summary




General Training Marking criteria

WRITING TASK To gain the maximum fumber of marks, your answer 1o
. Task | should reach the required level accarding to the

'. e guestion Iollovang critiena
General Training Writing test, Task | un page 165 « Task achievement It showld be task-focused, free

and of the of irrelevant informanon and
appropriate length. comment

« Coherence and It should be organsad in
cohesion a logical sequence, with

appropriate paragraph

WM;-UWNFWM ppr
’ ‘h. m”mb divisions, and should use inking

wiords arid phicases to show the
- reader what the connection
- 'IM#MW between the different parts
; * Lexical resource The vocabulary should be
accurdte and agpropnate
* Grammatical range A variety of stru clures should
and accuracy be used 35 appropriate

Exam help

* Look very carefully at the task input, that & the
description of the situation, the gerson you have to
send a letter to, and the three points that you have

pein Plymouth tainclude, Decide whether the letter should be quite
informal (e.g. If it is to 3 friend) ar more farmal (2.g. t©c
an offical)

&  Deade what kind of wnformation you will provige
yoursell, and make a lew notes

#®  Using the three bullet points as your plan, write yout
answer.

*  Check the length of your answer

s Read your answer throu ugh and make any changes
which you think will i/mprove it

. % Comect the grammay, spelling and punctuation 3s
1 necessary

hﬁﬂ language
& With reference to; conceraing X, about X

by ' unately. |'m sofry to 53y that ..., I'm afraid that
1 ¥ m,w

grateful if . ; couldyou . l'dhketo ...
sincerely, Yours fathfully, Best wishes, Love



WRITING TASK 2

Sample question
See General Training Writing test, Task 2 on page 165.

Sample answer

The importance of cars is indisputable. Over the last
few decades the significance of grivate transportation
hes steadily mcreased. In this ceaay, I'm golag to
discuss what factors favour more or fewer cara on

she roads. The aspecte I'm going to focus on sre rosd
design, safety and pollution.

First of all, | would like to consider whether there are
toe many cars or too small ronds. Many towns and
citizs really seam spoilt by traffic but this may be
mainly due to the narrowness of the streets They
really have £o be widened a0 cars can gt through
2asily, and lorries can transport 4oods more effectively
on them.

Ancther reason for thinking that there are too many
cars are the number of accidents caused by them.

If we had fewer cars, fewer people would be injured or
killed on our roads.

Demage 1o the smdronment is for many people the
most important evidence that there is too much
vraffic an our roads. The effects on local arcas are
seriaus: Carbon monoxide and other harmful chemicals
produced by cars damaging buildings and cause
respiratory diszases and other health problems for
residerts Noise and smells from care sleo make our
towns and citice ices pleasant to live and work in.

On & gickal scale, pollutants are changing our climats
causing extremes weather which affects all our lives.

[ believe strongly that we must reduce the aumber
of cars in citiea. Althaugh most of us love our cars,
and modem |ifestyles make it difficult to stop

eur dependence an them, we should make fewer

Journeys and use public transportation more 8% an
emviranment-frindly solution to traffic-clogged tities.

The answer would get a high IELTS band because:
It covers all parts of the task.

It presents a clear and consistent position throughout.
:'hh: conclusion f;-;;tc?mes ':vhe position drawn throughout
response and 15 and effectively presented
The ideas are supported by evidence, ‘
ﬂuidmamwfoginﬂyorganised and the answer

There is clea ; raphing and

f paragraphing and each paragraph has a
clear central topic. i
There is @ wide range of vocabulary ("indisputable’,
‘narrowness of the streets’, ‘on 3 global scale’) which
helps the writer present meaning precisely.

NN NS NN

There are hardly any
formanon. g
s/ Thereis a wide range OF§
7 The punciuation IS aCLUR

Marking criteria
These are more or less the 3
the requirements for task achs
extensive. N
Your answer should not con
opinian, and it should be oF
should back up your ideas Byl
examples, and mast importas
you should provde a dm con
re-stating your own viewpoint.
As the writing in Task 2 is long
that for Task 1, it is even more'l
organise your essay clearly, and
to separate the different ideas, '
cannections between sentences
to your reader by using apg
first, second, finally, hoy Y
pronouns like who and which,
Exam help
* Carefully read the description
situation or opinion, an
together represent the
your essay, Refer to these |
your essay, to make sure .'..':.
properly focused. "
* Note down any ideas that e
* Select the ideas you wa
¢ Write your answer accarding
*  Check the length of your answe r
*  Read your answer through and make ; ny char
which you think will improveit.
*  Correct the grammar, spelfing and punctuation
as necessary.

v

Useful language

a ot of people; some people; many pecple; a few pec®

on the one hand ... on the ather hand: however
nevertheless; although Y

firstly; secondly: finally; then; next; furthermore: in additon
besides; as a result; for one thing ... for another thing,
by comparison
ﬁwﬂnr;k&lpmmdm:km this
wmwr;mmm;ﬂammug:f' oner
generally, ususily; normally

“

in conclusion; to conclude; in summary
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PARAGRAPH 6

The Trust alst operates & Green

Grants scheme, whers iesdents

ran claim 50 percent of the cost of
equipment .. . Purchases mcluced
greenhouses. .~ |
PARAGRAPH 7 tells us thal el=ctnoty
was avajlable pnor (o the installation

ol the grid, mostly via diesel
genefators.

PARAGRAPH B fells us that:'The
work by the Eigg Hermage Trust

to reduce energy use has resulfed

in sgmificant reductions in carbon
SITUSHIONS ..

The passage does say in PARAGRAPH 5
that: ‘New snergy supplies are bewrg
developed, including sustainably
harvested forests to supply wood
for heating’, but thes does not go as
far.as saying that wood will be the
main sousce.

PARAGRAPH 2 tells us that: A
relabie alectricity supply has drought
improvements ;__for example . the
elimination of the constant nose of
diesel generators.’

PARAGRAPH 9 tells us that, Fvery
housshold has the same tve KW c3p
irmespecive of incoaE

PARAGRAPH 9 tells us of the

vanety of jobs created by the new
electrinity gnd.

JEk. !

[

I“‘.IH

o i [ _'--

5 PASSAGE 2

PARAGRAPH F gives predictions of the
numbers of temparary and home-
based workers likely to be seen n

20 years time

PARAGRAFH B explains that in the
industnal age companies structured
their organisations along mechanistic
lings, i.2. 'systems or stnict hrerarchical
structures and firm means of control '

PARAGRAPH G warns business leaders
that the pace of change is fast and
that they need to be aware of and tc
analyse factors which cause change in
their world.

PARAGRAPH A describes the
agricultural age which was one of
‘relative anganisational stability

ANSWER KEY L 4



18 | C PARAGRAPH C shows that in the later
part of the industnal age, demand '
for products was high. outstripping |
supply. this meant that customers
were pleased to obtain goods and
could not be too demanding about
the particular features of the product.
19 |D PARAGRAPH D explains that.
In the nea-industrial age .. a5
technological ddvancements brought
about increased praductivity, supply
overtook demand.’
20 |c PARAGRAPH C notes that in the
industnal age, organisations were: |
“task-onented”, with eflort being } il
put into increasing production 30 |
through more effective and efficient
: production processes,
21 |A PARAGRAPH A describes the
agnicultural perrod as being one where
both customer and labour markets
_ were local.
22 |D PARAGRAPH D says that:in the
neo-industnal age, people became
more discriminating in the goods and —
services they wished to buy; ... the 31 |8
emphass moved towards adding value
o goods and services .. "
23 |8 PARAGRAPH B says that the industrial
aae was characterised by a senes of ey
inventions and nnovations W Ly
24 |temporary | PARAGRAPH F ] m They found tha
" .. Leach anticipates that: “In performance remained stab.
Qiyeaﬂ time, 20-25 percent of several ho mmf
the workforce will be temporary training.” This contradicts : ;
workers. . no ':gm 10a 'b'eltmg'r,' asinD
25 [home | PARAGRAPH F 32 |nG In PARAGRAPH 6 we lean
= I om0 ,t}ﬁﬂ.".'n'f will work from hame "... the perfomw:: dm
n e for - ; t
. o= : A;irz-m ‘;: ’G rs::o?eds trained in a visual skill did
PAR imprave until ight hours after
it 15 crucial thar organisational the training was completed, and that
managers and decision makers are fmprovement was even greater the
aware of, and able 10 analyse the following day * The passage does nat
?h?m which trigger organisational say how often the training was 5 givest_
nge 33 |Y PARAGRAPH 8 shows tha
READING PASSAGE 3 frequency with footshock Wi
27 [a PARAGRAPH 2 b PARAGRAPH 8
The author states that the fish were the selectivity of the neysons’
injected before and after the fish TRSponse to the specific tone used
were trained; therefore A is the - """"‘33’;""’;:‘*0‘ to increase for
correct 4 7
answer w" """ma‘ s the training w____..
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g contradicts the
statement. I i not intviively obvious
Wity Our jasting memaores consakdate

stowly:
PARAGRAPH 9
Al species of animals studed to

date have both short- and long-term
memory, and all are susceptible 1o
retrograde amnesia, The passage

does not show a difference between
the stability of long term memory of
humans and of other species, but
neither doss it specifically say they are
the same.

PARAGRAPH 1

The answer musi be ‘new’ a5 if

| subjects could already do the task they
| could not be ‘trained” to do it.
PARAGRAPH &

% _ that lasting memory
nsolidates slowly over time is
ted primarly by clinical and

Fence. ..

at 77 percent. Finally, there were poor ratings at the
beginning of the period for the range of modules offered
(32 percent in 2000) and they GOt Worse, falling steadily
from to 30 percent in 2008 and 27 percent in 2010.

Task 2 Model answer _
Currently, in many countries, the age at which pecple stop

paid work tends 1o be between 55 and 65, In the past,
with few people living beyond the age of B0, it was rare
for anybody 1o enjoy more than 20 years of retirement
However nowadays, that figure s much more likely 1o be
30, or even 40 years This is often cited as a reason for
requiring people to work 10 a later age
Advocates of this point of view claim that it i extremely
axpensive to support people for so long in retrement
Pensions are paid for partly by people in their working lives,
but today pension schemes Gsually yreld far less money
than necessary because they were designed to maintan
people for much shorter periods. Increasingly, it 15 argued,
the burden falls on younger people who end up working
harder to pay for the enjoyment and relaxation of the old in
their extended retirernent. This, they ay. 15 fundamentally
unfair.
Although | acknowledge the validity of this argument,
| Balieve it is outweighed by two very powerful counter-
arguments. Firstly, when older people ratire later they
depsive young peaple of the opportunity to work and
develop professionally, Secondly, | believe that people aren't
just valuable mambers of soaety when they are earning
money. Retired people can contribute 3 great deal through
| sharing in family responsibilities such as child care, and also
L the wider community, by deing volumtary work. | think
. we should maintain the current retirement age and allow
‘people to flounsh in differant ways when they finish paid

employment.

Test 2

SECTION 1

1 Lamerton 2 42 West Lane

3 11" June/11.06/06.11 4 cook 5 equipment
6 food-handling 7 FirstAid 8 (college) tutor
9 0208685114 10 colour/color blindness

12 A 13 8 14 A I E
17A 18 8B 19C 208
N 3
226G 23A 28E 25F
27G 28C 294 30E
32 surgery 33 peetles 34 gas
36 surfacearea 37 tubes
39 submannes/a submarine 40 fual
N
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READING PASSAGE 1

1

unfr

PARAGRAPH 2

" .. many of the men wha wete
assessed for military duty had been
deckared unfit *

schools

PARAGRAPH 2
... the solution in the prowding of
Physical Fducation (PE) programs in

PE teachers

PARAGRAPH 2
* .. betrer prepared and specifically
educated PE teachers”

surplus

FARAGRAPH 3
" .. the surplus of Austrafians
graduating with a PE degree .., *

employment
opportunities’
CArRArYIoutes

PARAGRAPH 3
this qualification to identify new
| gl

PARAGRAPH S confirms that business

people now see sport as having good
polential as an investment.

Although the passage shows that
Rupert Murdoch has invested in a
range of sport ventures, the passage
does not state that he has a personal
interest as distinct from a business
interest.

PARAGRAPH 6 shows that there
are:'new and developing career paths
for graduates of human movement
SCHENCE, SOt SORMNCe, EXEITISE SCRECe
and related degrees.”

PARAGRAPH 7 shows the mutual
dependence of business and university
courses, Businesses need relums on
thesr money, 50 universities must
prowade courses which enable this

10

PARAGRAPH 8 notes the opposite, e
governments have focused t00 heavly
on cure rather than prevention

1

PARAGRAPH 8 says:

If the change & not brought about
for phiosophacal reasons, &t will occur
raturally, because insutficent funding
will be available tc address the ever-
ncreasing costs of medical support.*

16

17

19

18 |i

21

investment pays back in just over
a year, and every year after that

5 & 25-tonne carbon saving. (it's

important to remermber that all these
sums rely on a vand turbine having 8
favourabie location,) '(B)

22

N

PARAGRAPH D again:,

12

PARAGRAPH 9 says that graduates of
human movement, exercse science
and sport soence degrees, ‘who
alreadly have the skills, knowledge and
understanding to initiate community

23

offshore wind
farms
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24 developimng N‘H"EF
+ " -‘_-_1-“ 3 -
teshoiegy | addirion Y 3 | NG Thers iy nothing in the passage 1o
' 10 promgte ek investment heios indwcate whethe there are plans for
achicny o Bveloging furiher excavation
25 | negarve e ™ =
‘ PARAGRAPH ——] |34 | N PARAGHAPH 3
<al - there 1s no resl dooumentary
. ATVl quite difficult to spend evidence Ovr entire Enowieage comes
TRy Without havrig 2 negatve from the ceramc matenal it
| TR0 mpaet '
26 |can ARAGRAI & 1 |35 |¥ PARAGRAPH S
o 16 the kength of 3 man's amm mits
the sulysicly ENCOUrAges the gire of 3 smaller pol 7o @ cagadly
| o m ther maney on a of abount t‘f‘)ﬁnif hues
- @ wind turbine r;f;m"ﬁ‘cq” el 3 N PARAGRATH 6 |
) - - , m:‘ s e ' merchants handiing a comenogity
19 2= - , such as wine woulkd heve been pbie 1o
El determing easily the amount of wine
: e Tl ] they wene trarsportvig .
mllhlll GRARH 2 | 37 [y PARAGRAPH B
e pottery founs 't‘:m & wioe | In one case the deviston from the
vanely ol functional & stoege required size appears fo be as rmuch &
1S, Smafier containers. pounng 1 10 to 24 percent. '
:3&' . c:;:km penee | |38 [v | PARAGRAPH @
| @N0 50 on, which afl relate to specifi ] P .
ac - : | ragular trade routes within the
— | Aagsan led to increased movement

of goods . Tha increased demand
for standardized eschinge:

| Inextricatly Inked (G Cormmerces

transachans, meght have been one

| of the mam factors which e to the

| standardzation of potisry produchon
A | PARAGRAPH 8
‘Fven where there s no paticasbile
extemal differerice batween Dots
meant fo confain the same guantty |
of 3 commodity, differances in their |
capacity can actually reach one or
two itres

B Only 8 summanseas the overall purpose
of the passage, showing the place of
pattery production in Akrotint wathin
the overall socio-econamic canteat

e e e ——

1 Model answer

The diagram shows the differant stages in the process of
ting &n animal hide into leather geods

st stage 1s 10 hang out the hide on a fine, in the

@ir to dry After this, it is teansponted by lorry to the

Y for processing. On arnival, it is submerged in vats

P and water, and washed and then transfered to

f vat where It is soaked in lime. Having been cleaned
way, the hide is then sent 1o a large roiling machine
it Is smoothed and flattened. [n the next stage it
merged (n 3 iguid called tannin, which i a misture

. able matter and water. This is followed by the
PCISINg stage where small rollers are moved over the
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surface 10 produce a shine. The leather s then _transpated
1 a different factory where it is manufactured into the
inather products we see in the shops, for eample, shoes,

handbags and sports equipment

Task 2 Model answer ]
Athough some people waukd argue that we don't

change m any lundamental ways as we develop lrom
young children 1o adults, 1 feel there are some marked
differences in our soual behavour as we get older.

Fistly, most young children tend to express themselves
much more apenly than they do when alder, showing great
extremes of happiness and misery. However, when they
are wdults they leam to hide their real feelings. This can
mean that children have very volatile relationships -~ for
example, groups of youngsters will often fall out and row
with each other at one moment, and then immediately
afterwards they have mended thewr differences and are
back as close companions. Some peaple say this change
in behawour 15 good, that showing extreme feelings is
seffish and being & member of any community requires
moderation of expression, Other people condermn this
change, saying childish openness about feelings is mare
honest and as such, it should be valued. in many cultures
there are proverbs which say something like ‘truth comes
from mauths of the very young', and adults sometimes
lamant the fact that they no longer teel things as deeply
as they did when they were children. They regard this as a
great Joss

In my view, it is a good thang f adults can retain some
childiike qualities in their sooal behaviour throughout their
Me | feel that, wathin reason, it & healthy 1o show feelings
Cpenly because 1 leads (o stronger relationships. However,
aduits shoutd always kéep in mind the consequences of
mRpressing what they feel the moment they feel it They
need 1o realise that sometimes saying what they feel is
samply selfish and if it hunts others, then they should keep
the thoLghs 10 themsalves

Test 3

SECTION 1
V greworsy 2 62.000 3 eacher & shopping

S o0 Gty Treyewre 8 o
LM t
¥ Thursday 10 London g

SECTION 2

SECTION 3
NC 2c 22 228
IJIWEE 2798 o0 2990 3o

.1

n
33
35
37
40
1 I3
2 cats
r'gw
| §
a4  |lie
T
| |
5 [ extina
bythe
nthewild®
e Sive PARAGRAPH 3 —
wm -*_ _'--o":
¥ 'Sfifteen | PARAGRAPH 3
wealg ' -wmnﬁf | 3 ﬁ'_l
her pouch for about
8 {sitong) PARAGRAPH &
maw ',m' Bm"!
had been an important anm
m:vlhm
- for ot peaple *
sdsane | PARAGRAPH 4
M'"w e shils and knowledgs of
would play & sgndicant
e role i £ anc af cerer s
‘ PARAGRAPH 5 shoes that
::";mmuu
tould
et vt
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A describes how in 1
sventeenth century Ru:sianm
authorites used a vanely of means to
find out about and prevent the irmport
of plague from foreign countnes.

&ction & shows that there was some
SUCCESs in prevenhing the impon of the
Pague. though not tolal prevention

Section C explaing how Russian
irvalement in wars with other
counitries allowed the spread of the
| plague 1o Russian soldiers

P B ! Wil

l’ Section D describes how the Tsar
[ Peter 1 tned to timil the spread of the

| plague in a variety of ways
| . Y

18 "

B 7 :
| Section £ summarises the maasures

t3kan by the Russian authortes as !
ther sucess ny being

! DEnn |[f"},'_|!r‘ 'yl
] s -

{00 piacemeal

=
19

g T
[20 and YB and

21

| e —
| Section ' shows haw 3 coherernt ‘
preventve sirategy was developed for

| mare systematic control of plague

| PARAGRAPH A says that
informatan on deease cutbreanx
ooruming 3broat was regu fardy
reparfed fo the 1580 5 court thvicugh
VSNSRI l-"'\."-‘i..amxg |
undercover egents. .. (8

| PARAGRAMH B says that I

forengn vessels weve nol aloveed

I s dock in Russan ports F there [

| was cragibie informanbon abiout the
pystence Of epuiemics N COUNITES

| from whence they had departec (D)

e — pARAGRAPH C mxplasns that

A and

'22 P
23

oocurTences was of
|
nehe gt WA |

B
e al-nlx

AoNne of the
the same scale &5 ;
PARAGRAPH £ surrvranzes Ihe ac-
pature of He ar-pague il
af of the M5 Es '-"ih" a
| D_o'.gu-gr characier ey "J"f_'i'
| " 1:‘;;1@%'":'65:‘_‘ :

Nhﬁ"’ c."“? ~ Hg"“-’.’
putbvesk, a7 Af AR RS M0 DS

* 3 comeoent 5% ¢ e
: ¢ pystamatically ot the i

25

26

e —

READING P2

27

28

30

2010. 1t does mot il us W

-

| In PARAGRAPH &, the weiter
‘mgﬁumm e .
| hould take :

133

34

179

| help 10 rebuid ther mputaton.  f
FARAGRAPH 7 ‘
The first step Ganes-Ross sugpests.
fade the heat - leadkr Arst. '
maxvng that the tesds Should
resQn

| RARAGAAPH § s that SOty
Mo thE PR phAaE maEry Tl
FEFEATTIT e SDLRT e meils

ANSWER KEY
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35 PARAGRAPH 12 says that
climate scientists shauld not be
'... tonceding to unfounded
argumenits which are based on

prejudice rather than evidence "

FARAGRAPH 14

Uses the term marathon to indicate
the time it will 1ake to rebulld
confidence: a marathon race being
a long distance race rather than a
shorl sprint.

PARAGRAPH 1

... some of the relevant statistics
had been withheld from
publication.’

36 D

37 £

38 PARAGRAPH 6

"... climate scrence needs
professional help to rebuild its
reputation. It could ... follow the
advice grven by Lesle Gaines-Ross,
a ‘reputation strategist’ at Public
Relations (PR} company Weber
Shandwick.'

39 PARAGRAPH B

In her recent book °... 2 steps
to safeguarding and recovering
eputation’. Gaines-Ross’s
stratagy ...°

40 PARAGRAPH 12
1t 15 also impertant to engage with

| those crifics *

Task 1 Model answer

Fustly, generally spealing, graduate unemployment rose
tor both groups from 2008 to 2008, Although women's
unemployment levels were the same for Apnl 2008, July
2008 and Apnil 2009, all other figures rose. Secondly, there
was genefally more unemployment for both genders during
the autumn and winter months, with figures for bath
genders peaking in October (e.g. for males: 16 percent in
Qctober 2008 and 22 percent October 2009)

Perhaps the mast striking trend, though, is for a greater
percentage of mate than female graduates to be out of
work at all times of the year, Also there 1s greater seasonal
vanation for men than women: the gender difference
15 much more marked in October of both years and this
reaches 3 peak in Ociober 2009, where there is an eight
peccent difference between women and men

Finally, employment of women graduates is relatively stable
throughout the whole two-year period. It only varies by eight
percent {sx percent in April 2008, to 14 percent in October
2009), By contrast, men's unemployment fluctuates more
noticeably, with a range from eght 1o 22 percent.

ANSWER KEY

SECTION 1 !
1 hairdresser 3 sunglas
4 jock § adq:mh 6 tax
7 leffersy 8 0777594128 9 ¢

10 30™ Apnil/30.04/04 30

SECTION 2 -

MeC- 12A 134 14C 158

6 C 1718 DE 1920 i

SECTION 3

21C 228 23C 24 A 25/26 GF

27728 OF 29730 e

SECTION 4

31 callcentre 32 inconclusive

33 met methods 34 unequal

;: femalewomen 36 resporse 37 control
sample/group 39 theirfother colleagues

40 confidential '
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.J!

!.-

13 branches

Mtam1

PARAGRAPH 2

FARAGRAFH 9

The arganisation has now akso
asfablhed branches in Nesw Zealsnd
South Africa and lreland, a5 weli 2

His father ... ran the Brash retad musee —d

Brash’s first job was with Myer .
department stores before he joined the

family business,

Dusmess that had been founded in
| 1863 i o ” READING PASSAGE 2
N PARAGRAPH 3 14 F.. [ PARAGRAPH A iclentiies the vanety of
accupations undertaken argund the

Thames nver in mediesal times and
oullines what each irvalvae

PARAGRAPH 3 LN
After intially complaining of his

extravagance his father grew to accept
the dwr ang gane Geoff increa 5;',-;9

PARAGRAPH B describes the n"y’;i'd ‘
difficulties of transporting goods and
the ways men worked to ovetenme
those

16 »

PARAGRAPH 4 tells us that after
World War If Brash's had focussad on
'white goods* before Geoff Brash took,
s mg'm 1957

PARAGRAPH C outhnes the change in

status of river work over the centunes

from well-regarded in the fourtesnth -
eghteenth cemunes 1o disreputable

in the late eighteenth and early |

nineteenth centunes

PARAGRAPH D deserines the
composition of ‘& workforce of many |
thausands congregated n a relatvely |
small area *

18 i

PARAGRAPH E shows the river

community as beng s word span
| with its own fangusge and laws

19 | wh

| PARAGRAPH F outlines the great
numbers of people employed on a
casual basis comparad (o a relatively |
small number of permanent workers. |

20 and | Cand
21 E

Faragraph A niennf-»s nine different
occupations of workers making they
iving by the nver. (O

Paragraph B details the heavy lifting
and carnpng required of the man whien
guays and streets were unsuitable for
wagans or large cans.(E)

Paragraph D notes the many
thousands of people employed in

a small area and descnbes the East

End as ‘the most intensively inhabited
region of London. (A)

Paragraph F notes ... crowds of casuals
wadting for work at the dock gates ..
and ', some 2,500 casual workers
who were hired by the shift. '(C)

24 regular
wage

PARAGRAPH F

.. 400-500 permanent workers who
eamed 3 (2gular wage . .. But there
were some 2, 500 caswal workers who
were hired by the shift *
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25

steam
POWES

PARAGRAPH F

‘Steam power coukd not be used for
the cranes . . because of the danger
of ire”

P Esgue

PARAGRAPH F
This was part of the life of the rver
unknown to thase wha were intent

upon its mare PICIUIeSIUe aspects.”

READIN

G PASSAGE 3

27

NG

Although the passage tells us in
PARAGRAPH | how many préschool
children n the US had played video
games, there is no companson with
usage in ather countnes

28

PARAGRAPH 1 says:

‘... we predict that preschoolers
will both continue and increasingly
begin to adapt video games for
persanal enyoyment.’

29

Aithough we are told in
PARAGRAPH 1 that ‘once a game
system enters the household it is
potentially available for all family
members, inciuding the youngest”
this does not necessarily mean
that parents are explicitly giving
their permission for children to use
the game.

a0

N

PARAGRAPH 2 notes that research
in this field tends to focus on
marketing and fault finding rather
than original design for targeted
users

N

PARAGRAPH 2 says that

research has to be undertaken
n order to truly understand
those audiences, [preschoolers or
senmor citizens] their abilities, their
perspective, and their needs.’

32

FARAGRAPH 4

Iin addition to their still developing
motor skills ... many of the major
stumbling blocks are cognitive.”

33

PARAGRAPH 5

‘they are Jess exact wiath their stylus
miovements ... [but] their fingers are
50 small that they mimic the stylus
very effectively, and therefore by
using their fingers they can aften
be more accurate in their game

PARAGRAPH 4
‘Though preschoolers ... understand
that pictures can stand for real-life

objects ...°

ANSWER KEY

182

Task 1 Model answer
The two pie charts show that low and high income
groups spend their disposable income (earnings exchu
house rent or purchase) on similar items but in differes
propartions.
Regarding the low income graup, the highest propor
of their money is spent on food and drink - 20 pe
compared to just 15 percent for the high income grot
This is dosely followed by 24 percent :;u out an uel
bills, which contrasts with a much lawer figure for this
tem for the high income group (only 7 percent). The
most popular item for the high eamers is recraation and
cultural actvities - 21 percent compared with 11 percent
by the low eaming group, The higher group also spen
a much higher proportion than the lower income groug
on restaurants and hotels (12 percent and 4 percent
respectively) and on transportation (16 percent and 9

percent respectively). The proportion of expenditure
do"‘"gb"h'*“gmumismnéf o

percent difference between the two mw‘:‘:‘uﬂ o
Income group and five percent for the low), .

o -
. [
[



wﬁ' Chﬁ;pl ‘.If ‘-‘-I"Eﬂ
and sounds

-_mﬂu wards and imusic
Stealing, ust as rmasch o =15, anter all, & form of
b'Ecc-r-.&h»‘ . e-? f'g"‘:ndllt:h -f semeane had shopifted 2 D
23 that if nobody actuaity by =

ks then the peaple who prod ¥ Duys music or

novelists - Produce them, for example,
- JoUMalists or musicians, will no longer be able 1o

;‘:ke a3 bving from such wark Eventually new work will stop
“ﬁrf‘g_r.reated. fa-one will perform live and whole industries

+ C295e 10 function. They say that eventually the only way ta
:"Jat:? maoney from writing and mysic will be ‘.h-‘{'."llgh thing:
‘ﬁ*’_"*‘b“‘r‘ endorsements, and mediocrity will flourish
: ieve, however, that freer 3Cces: 1o books and music on
thie ntemet s 2 fibe.'atmg development, m‘mw mare peopie
10 enjoy what was once the preserve of the few. ftis particulacly
goed that young people can freely experience 3 wide range
of music and writing | feel the only way 10 prevent 300essing
books and music is by stricter martonng and harsher penalties
3nd that this would be extremely damaging, because it would
Increase survediance and control. 1 believe it would stiffe
creatinty and undetmine creative industnes much more than
Iree access s said 1o do now Delivve witers and muscans
will find a way of benefiting from the new situation and good
arusts will De able 10 make a Iving as they always have done

Test 5

SECTION 1

1 weekend(s

4 late/unreliable
7 designs 8 expensae
10 ladderis)

2 plasdeco 3 clear
5 cheaper 6 messy
2 painting

SECTION 2
11 8 12 C

16 C© a7

SECTION 322 -
21 D
26 £ 27/28 B

14 B
19 D

13
18

&Y A

A 15
H 20
24 H 25F
249730 AC

23 A

SECTION 4
3y common
34 grey/gray
37 heaning

32 Wﬁwiﬂ;m'mfdﬁafeﬂflgj 33 tail

35 hymanypeopie 36 memory
38 birds 39 year 40 water

wuba
diving

10

11 QoML

cahons

12 Sustaine.

lhlh‘y

13 conflict

READING PASSAGE 2

RAPH 2 tells that

fishery the physcal
in 5 coralree!
;a:eﬂlbm of the reefl OpeTis Up

14 |

for dinect partiGpation

.IThF_ 'hmmnﬁﬁm“h- -_

oﬁmmmw'hw_ |
think in ordinary stuations =~
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1%

17

18

19

L)

PARAGRAPH B lustrates

the problem of superfical
undestanding by explaiing how
students can leaim information but

be unabile to apply i
PARAGRAPH C explains Fiaget's idea
that learning results from conllicts

between existing concepts and new

‘discovery leaming’ had initially
been seen as a long learner being
challenged to re-thunk, but later the
role peers can play n learning had

been proposed

information which challenges them
PARAGRAPH D shows that

PARAGRAPH E outlines a study in
which it was found that progress
was . obsenved ... ina second fest
grven around four weeks after the
group work,”

PARAGRAPH F describes a study
which investigated whether the
exchange of ideas in pair work
could aid learning

20 and
a1

E and

D
f

PARAGRAPH C

Accarding to Piaget. learming takes
place when pupils are actively
engaged in solving problems that
thalienge thesr current thinking (8)
Although the teacher s important (as
n A, itis the inner dynamics of the
pupil’s thanking whach s key

Young children - according to Plaget -
oo not always accept the need to
change thesr wieas in the face of new
and conflicting information: they may
regext the new information to preserve
ther okd way of thinking (D)
Repettion and consistency of input
(C) is not mentoned and children's
abdity to help each other (E) was not

noted by Plaget

PARAGRAPH E

Howe compared the progress
of 8-12 yearold chikdren in
uncerstandmg what influences
mobion down a siope. * (A)

Howe and collesgues created two
groups acconding to a pre-test a
M!WW‘SW| afer
the sessions and another four weeks
later (E)

184



.35 C

The moniumental nuins et bisind

by those pust societies hold

6 | fastination for all of us
= PARAGRAPH 4

. it fis] tempbing to draw analogres
the course of human

Socehes and the course of

mddnidual human bves . But that

metaphar proves erraneous for

Sl | ¢ | Mmany past societies ... *

PARAGRAPH 5

These envwonmental problems

include the same eight thal

undermined past soteties, plus

four new ones . °

PARAGRAPH &

"... some of those [differences] aften
mentioned include cur powerful
rechnology (e its benefina!
effects) , . We also differ from past
socKelies in soime respects that put
us at greater risk than them: again,
our potent rechnofogy (1.e. its
unintended destructive effects)

38 (¥

PARAGRAPH &

‘Wea shouldn't be so naive as to
think that study of the past wil!
yield simple solutions, directiy
transferable to our societies today

Only A sums up the argument. The
issues mentioned in B, Cand D are
either not referred 1o in the passage
or form only 3 small part of the
argument,

Model answer |
g?g':aph shm the average weather conditions in one

ficant
on of East Africa. It shows that there are Signi
::i?if:zrzas in the average monthly precipration and some
vanation in temperature. The range of rantall ﬁg‘::es
#Seos across the year (from appronmately five o
= mm;lqem whereas the temperature only fluctuates
e from 20,5-23.5°C ._ .
WMM m;‘puhnq in thes regien pericds of high mnhﬂ
e 2is0 o be periods of shghty hotter weaingr BT e
t eable peaks in the yesr Temperatures 31 "
s and April (just Over 23°C), which contides
o m,ﬁmm;m@muﬂmmm
3 maf;'m! - éall gnd temperature [@mﬂa‘z ;:“ n:;'
:.ddhdmpflw.;ﬂ‘!wefzo'

mm of ranin bty

The exception to this pattern - 0F 8
damper - is lanuaryTebruary and el
are refatvely high temperaturas (323
(la<s than 20mm).

Task 2 Model answer
| strongly agree with the suggesiion
should consume less meat and ing :
vegetables in their diet, and ) beli
steps can be taken 1o persuade poag
Fiesthy, | Tesd that sducation has am
bringing about this change of
minority of the world's pop
the fact that it is much chee,
sount to eat vegetables, there
stage of production, rather tha
which graze on vegetation. Hows
majonty are not conscious of th
widely available showing the sawi
option - both financial and ecole
children should also be taught th
the curriculum and to set an exai
be redasigned to reflect 3 shift
A secand measure would be fir
on meat to make it a luxuty item
at most thres of four imes a w
three tmes a day as 15 the pra
developed world. There is, hoy
interference in paopie’s choice. It
resistance builds up against lect
meaning that peaple will react b
Perhaps & compromise position
less wastage in food produchion &
the developed world. Huge amo:

food are thrown away by househ
and supermarkets. Less wastage would n
production in the first place. -B
Test 6 :
SECTION 1
1 Muoonfleet 2 fislds 3 shops
4 summerhouses S river 6 dini
7 sea 8 garden 9 parking 10 agent
SECTION 2
11 A 12 B 13C 14
1516 0 1718 AC 1920 #¢
SECTION 3
21 A 228 23A 2aC 2@
268 278 28A 29D 30¢
I
SECTION 4 :
31 (wry) thin 32 court dacuments
33 high-quality 34 buried 35 thickness

36 Lieached/whitened 37 dislec :
39 evolution 40 wade routes 38 baselon

ANSWER KEY

185



READING PASSAGE 1

1

Jabiels

PARAGMPI*‘ 1

‘During the 1950s ... There were no
celebrity designers or models, nor
were there any labels ..°

bargamn

PARAGHAPH i
high=society women,
were proud of getting a bargain’

plastic

PARAGRAPH 2

Tin] the 1960s. . [thers was] an
acceptance of innovative types of
matenal such as plastic and coated
polyester”

traditional

PARAGRAPH 3

The following decade witnessed an
increase in the export of traditional
maternals ..."

masculing

PARAGRAPH 4
‘In india too, contours became
more masculing

chawy

PARAGRAPH S

‘desxgners deaded to get
themselves noticed by making
showy ourfits ..

ethnu

PARAGRAPH 6

‘In the last decage of the
mrlleniniumy, the markel shrunk
and glhnic wear made a
comeback.”

| PARAGRAPH 7 tells us that at the

beginning of the 21% century,
new dasigners and models, and
more sensible designs helped the
Indian fashion industry accelerate
once again.

NG

Although the passage tells us in
PARAGRAPH 7 that " . [ndia is the
third largest producer of cotton ...
it does not tell us how much cotton
India exports

PARAGRAFPH B descnibes the many
advantages enjoyed by the Indian
garment and fabne industries

n

PARAGRAPH B makes it clear that
changes in the rate of exchange
between the rupee and the dollar
have depressad prices, making
exports maore attractve,

12

PARAGRAPH 3 telis us that in
Chapa the range and quality of
raws slks chumed out here are
good despite the crude production
methods and equipment.

|13

14

15

16

17

18

19

!I.. - -_-- --;I
ademM v

20

PARAGRAPH C

Didcot failed to develop Broadway
asampadtmmw
acheved

one side of the main street
in by low density housing and
trade uses *

21

PARAGRAPH E -
‘Population growth in the new
homi-ngmfﬁdaom

wmmkw h
did take place ~ Digcot .

—

".. the Orchard Centre

ANSWER KEY
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3 A PARAGRAPH £
.. the improved raway crossing at o Ay given language s a complex
Marsh Brddge ... Such proects were system shaped by mery Factors,
inclutfing cultire, genetics and
B ( history. *
PARAGRAPH G M |c PARAGRAPH 7
| ..« the requirement for developers Linguistic slermmnts may bulld on
wwm of the unhis in a human reasoning We perceive rhe
" lem d?#l?pmenf should be world in a certain way betore v
SRS ‘ W 1o speak
wﬁwn \GRAPH H T PARAGRAPH &
he Goyernment's Sustainable Notes that middie ear infections
Plan seeks 3 holistic afe Comman among indigenous
development Austahan children and their
ch. of ol language lacks sounds which would
e Geiully planned ana be ditficult to hear, given an ear
bt - infection There may be a cause
' and-effect relationship here.
36 B PARAGRAPH 9 ]
Lewnson and Evans are not the
first to guestion the theory of
tola urmversal gramenar, but no one has
summarnsed these ideas quite as
pecsuauvely’ N
37 v The passage compares in an '
’ oDjechive manner the diffenng views
feas is that of : | of inguists
BPWhich prevailed | 33 [ PARAGRAPH 2 ’
3 the next five l Arrernte . has VT syfables bur |
. . | | noCVsplables |
ows that 39 |a | PARAGRAPH 3 |
e many 'Others, such as Lap .. have no
wies, However, ’ I ddpectives at all - '
Ry oneptons | [ o PARAGRAPH 4
[conflirms that some ‘Even apparently indsputable
Waversial in arguing unnversals have been found
such as Strarts lacking This lncludes recursion
ave dis Amazonian Piraha does not have
this quiaiity,”

Task 1 Model answer

The plans show the changes 10 a health centre aver the
last six years. Since 2005, the centre has expanded ina
number of different ways. Firstly, an extension has been
added to accommodate @ minor operations room, Also,
the intenor has been significantly remodelled. In 2005,
there was 2 large entrance area with wide doors and a
lot of open space for waitng, with the reception desk in
the middle. There were only three cansulting rooms and a
physiotherapy room. This room has stayed the same sze
but the consulting rooms have been made smaller and
increased to four in number. The office has been made

| il
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tmaller and the reception desk put m hoet of i1 Achdden™s 36 geass = &
Py aress has been added in the comer nes the entrance. 39 wally
Outsde {hete have also been changes The car park has "
beeh expanded with room for 18 mare cars. The garden s A
decreased in sire 10 accommodale the extra parking space

Task 2 Model answer
in many parts of the world, and in many different sectors,
more and mare people are staying at home rethed than
commuting to work

Opponents of hame-working say that being together
in @ workplace with colleagues is an important part of
keeping people healthy and happy Staying at home, navet
meeting people can lead to depression, They alio say that,
from a professional point of wew, it is important to spend
tme in formal and less formal siluations with co-workers
Although 1t i5 argued that interaction can happen wa
computers, especially with a visual dement such as video 4
conferencmg, they don't believe this can ever replace face
o face contact

For me, the advantages of working from home more
than outwesgh the disadvantages. Firstly, many workers
prefer home working, saying they function more effectively | s
because they can relax, wrthout the pressure and waste
of the long commute. With new technologies placing
peopie in the sama room metaphancally, it is becoming
much easer 1o do this. With less travel there s a smaller
carbon footpnnt, although this is a claim which has yet to &
be proved becsuse many people choose to live in remoter
areas and car use s not significantly reduced when working
at home

Finally, what clinches the argument for me is the fact
that working at home enables many people ta join the
workforce who would not otherwise be able 1o do so
This aption is particularly hberating for women because 4
they often have more canng responsitilities

To sum up, | believe strongly that working from home is
1[:9 fawest and maost efficient option for mest people

Test 7 .

SECTION 1 ’ sone
1  terminal 2 Pantera 3 gan
4 07765 32841 S hotel (restaurant) 6 raincoat 10 fight
7 (walking) shoes B Mountain Lives
9 chocolate(s) 10 (3) calendar

SECTION 2 n largest
MNC 128 1A 144 15¢C
168 17F 188 190 20¢

SECTION 3 ' 12 et
2922 ND 2324 BE  25/26 WC
27 C 288 200 30°F

SECTION 4
31 rantall 32 sijplane 33 freezing
34 unsuccesstul 35 cheap/inespensive

B suswes ey

17 | stable
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READING PASSAGE 3

27

8

Vs
HITANTE

| PRAACRAPN
‘The rewdy swclad regern of DA |
atso medae 3 gene caled RNl
what'hy orrdros Brerst gr#_’*fh e I
Lm&,- gecouTd for ditfersrees o *he 1
thage of the stué

iintle fing
Dot

'l

o | PABAGERAPH G

Britfwe of e tasens Fan reveed
tte puishenice of § ftherio
v e TRl SpRe0es Of RLATS

L a4

oy o
.

UGG rtochoncire! DINA T

& jiile finger bore.

S

¥

| PARAGRASH ' 1efls i
the frst commertial lsfmerrivee
a5t thewr nets and hooxs
thowsand yeans &30

a3t

Ower a

| FARAGRAFH 2 wppai s (he
| cstatemant Dy l'.‘!‘;;'_m? gl m '_!‘*‘-"“"'
| W vitew the ogeans as somathing

| whach should be open 1o all

29

ki

|- FPARAGRAPH 7 contradicts the

| statemant whean 1 s3ys that

: MOSt Mmanne profected arsas
Lj'is" some fish nig 1o ComnuE

g

3a

NG

|r The passage ocuses on ways of
protecung suppises ot hish, o Of
nat discuss the option of limiting
COVTEmer oremang

E 3

| PARAGRAPH 4 makes it clagr
that destruction of the varety of
mammals has been much aaser
than ther recovery will be to
manage

32

The writer means that pleas from
fisheries” managers for more wme
to make their models work, delay
action which might lead to real
SUCLEsS.

33

Nane of the statements A, Bor D

15 supported by the passage, but in
PARAGRAPH S the writer says!

‘The Cormman Fishenes Poicy
exempiifies the worst prtfalls: flawed
models . " \Which agreas with
statement C

34

In PARAGRAPH & the writer says
‘We can go a long way 10 avorting
this catastrophic mistake with simple
common-sense management "
thus supporing statement A
Statements B, Cand D are
contradicted in the passage.
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L} i
w ' 1 Task 2 Mode! swet
R e A T iy agreed i1 2 P and stable reaticrsie,
. , Justifisbly, that the plartiful g s the bedrock of @ny commurmty. vth 3 ety
| ::?m of the ses weve beyond 4l resporsible PITNSES and 1 Chigen rem gy
W.m of fishing, and so Uwig hanmordous families gecause of BB, 5 imponang g
e nesd 10 restns fishing L upiport the insusution of IrErnage i CVETY Ey DoswE
36 z e protected arexs. One woporant queston M ralation to thes & 3wt "; =
WGRAPH 1 —  hould couples be SHoVE to-marmy’ o
modern Lshing jechnoiogys there are 3 Ml of reasors lof making INe mary,
= > lessve fizh Ao ph:fl_r':‘ tnfe 3 leqgal a0t for matnmony as iate 35 possibiz. Marny ye, -
' PARAGRARH 1 ST 1 asrguethst pea - theit 206 are abile to make ,,,u.,.j"*
' the anly refuges from Tishing are rational and irformed deawons than 10en390es car, _.'."""
thase we deliberately create.’ people will have seen enough of yhe world to knopy :@
PARAGRAPH 5 that the feelings they hold for SoMenne at 3 gven mg -
creating marin reserves . . has nest last, They will reatise that superfical Souncy
WW tried and refined for the jast fie physical beauty o sporting Prowess may not b eﬁ"'
- l years only ones to brnd happiness in a relationship lew
PARAGRAPH 1 couples are likely 10 give more consideration to IS
the sea trails far behind the @nd as income and job prospects, but also 10 less obvious :“‘*
an terms of the area end the quality inportant personality trats such 35 tolerance, hm;m,"“"'
—1: of protection given * moral strength. o
PARAGRAPH S — However, other people contend that & is unrealistic
. “To some people, creating : make couptes wait until thesr 20s hefore m;:frﬂ:—,; '-,,.h
= - & [Bserves is an admission Ofmfath.r.re_' suggest that as soon as the boy and girl have fﬁd-ih[;-ﬁ
1 = PARAG s puberty they should be allowed 10 marmy. To pravent =
| s If we don't break out of this cyde them doing s would result in rESEnFeR between the
: il failure, humanty willfose 3 gf\:uaawm' frustration and an increase in the rainbes of
key sour of protein, and much :n P!:\Ol:taed nnr?nancxa If marned taanagers are gf,,;
| more besides Bting natural thtmt_l p and support, they can have children ahas)
casystem arocesse:s .. could have Te? are young and healthy enough to enjoy them -
amifications for human iife rtself.” 3king into account both these sets of argun Y 8
: that 21 is probably ¢ = 1
th lesial i oo old but that 18 should be made
nimum at which couples can marry
General training
rities in the SECTION 1
people spend on 1 £ T
" fuel' l‘et"ﬂ YAl Y
5 to the mast 2 please ﬂare?arefe};;'t-ﬁr > brm'j
SUNGEr group e’ suitable for a broad reng®
e on the Intemet. 3 E o o
1 on this by This item is not available for
age of Internet time | 5 overseas delivery’
on making 4 ‘ : il
r users mkb‘::‘"% tf:' all young children who wan!
e copy adults and do some red/
¥ " 5 A w. erlﬂg. ’
Jps spent a 'Agmtwmftﬁm |
¢ example young children entertained in 17
A N bil’h . ﬁm / Eﬂal m
e, 20 percent 10 be plies the product 5
it 21 percent 6 |F be used in water) !
W this was only A great creative kit for malng ¥’
pup, Finally, there | € adorable ballerina doll
e two groups 8 ; Wmfwhom._-/
Jp things e The '
ﬂ'#atlfhnu tells us in P ;
il Campbell Hotel 15 one?
and'sokdest famy-un
will




< e MALGRAR 4
Conpoeate stes aach g Lrvkedin,
har @50 gven employees e bty
10 E25E vwith propie ching tenier
= WOk

3 |beldeg | PARAGRAM 5

Teacse fFor people wiva re worting =
QR mada t's eventivngl s
0 rie giding trage o' almios!
pontiess

24 forng PARAGARAPH

(Qurses Apzt from on-fhizyob traming
there are seif-belp bools . a5 vl
- &+ formal courses

25 Seaft PARAGRARHN 7

Development | * - dacde what thewr genumne
aneds of weakness are, and then
talic about them with thew Staft
Dewelopment coordingror

26 s PARAGRAFH £

shadawing | °__ temporary rokes or job-
shadowng can Ve YOl @ Mmore
rounded view of the organisation
27 targes PARAGRAPH 10

Une of the key skills 5 dealing
with your boss, and part of that &
' knowing what your bess < being
! Judged by They all have targets .

SECTION 3

8 i PARAGRAPH 2

describes the wide range of
geographical areas in whwch the
Spotted Flycatcher has been
observed at differant times of
the yeat.

29 v PARAGRAPH B outlines records kept
in the exghteenth century of very
regular patterns of the bird's amwval
in England and compares this with
modern records,

30 i FARAGRAPH C shows how the
female undertakes most of the nest
building and incubation, but that
the male ensures the eggs are kept
warm while the female leaves the
nest to fesd.

31 wil PARAGRAPH D does briefly refer 1o
predators, but mainly describes the
way the parent birds care for the
chicks in the early days.

32 W PARAGRAPH E describes the way the
burds change their insect-catching
pattern accordng to changes in

temperature
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33 PARAGRAPH F outlines the
appearance of the bird and other

means ol identification.

PARAGRAPH G shows the work
being carried out to gather and
understand data on declining
numbers as a first step towards
conservation ‘

34

35 drabsduli PARAGRAPH A: "Despite its

rather dull plumage’

PARAGRAPH F- ‘The Spotted
Flycatcher lacks the more brightly
marked plumage of many other
birds, and ... it can be mistaken for

another, equally diab species ...’

36 PARAGRAPH F- * . sefdam seen on
the ground, but usually feed from
a perch making sallies after aera/

perch

37 farnily PARAGRAPH F: * . it is rare to
see several Spotted Flycatchers
together unjess they happen to be

8 family ..."

38 SNapping

PARAGRAPH F ‘the audible snapping
soned

sound that the bili sometimes
makes when the bird snatches
an insect from the air*

PARAGRAPH A tells us that the birds
have been sighted in the northemn
hemisphere (Britain) and the
southern hemisphere (Africa). (D).
Statements A, B and C are
contradicied in PARAGRAPHS A

and B of the passage

PARAGRAPH D confirms that the
nest may be used for more than one
brood (B)

A cannot be chosen as PARAGRAPH
C describes the nest as ‘deficate’
Cand D are also contradicted in
PARAGRAPH C,

33

N

General Training Writing

Task 1 Model answer
Dear Alice

| hope you're well 2nd en
atter the holiday

| wonder f you could do me a favour Would It be
possible 10 buy some books suitable for 2 14 year old

tioy? My friend Uﬂmiﬂe}hnawnwfmlsnmdung
particularly well in his English classes at school, Mis English
5 actually quite good, but he's lost motivation and Jasmine
wonderad whether it might help if he could be persuaded
1% do some mars in the language As you know,
"5 very difficult to get hold of English books here and the
cnes in the bookshops are rather boring fm'a'temaqghgy

ioying being back at university

ANSWER KEY
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The main
follows. Firstly
cars in a given phk
the numbers are
deprive pecpss
transport 15 oft
Only private cai
hves efficentl
to work and go
even the mosty
round fairly eas
lanes so all fo

However, | fee
our towns a
with many more
everyone, includir 4 10 '
havehssand hm' *ﬁ,- dam 1o
Another Point to consider s that targe ny of cars
are causing severe pollution, making the air o our crties.
unpleasant; at times, almost unbreathable, There has
been a sharp nise in the number of people wﬂlring o
respiratory diseases. and old and valued buildings are being
destroyed by chemicals from car exhausts.

Thus, although many people fiercely defend the I'bhtﬂ !I |

argul

T &




